MARKING SCHEME 2019-20
ENGLISH — LANGUAGE AND LITERATURE
CLASS: X

Time allowed: 3 Hrs. Maximum Marks : 80

SECTION A (Reading)

20

Answer any eight of the following questions.
a. lll. 230,000 soldiers

b. (iv). Il, IV, I, lll

c. lll. Jean Henri Dunant

d. IV. Writing a book

e. lll. The Contributions of Jean Henri Dunant

f. land Il

g. time

h. False

1x8=8

2.1

Answer any four of the following questions in 30-40 words each.
(a) a spare called determination, an engine called perseverance, insurance
called faith, and a driver called God.

(b) The difference between a disaster and triumph lies in whether or not you’re
prepared and willing to weather the storm. If you’re ready, those bumps will
become stepping-stones.

(c) If you want to have a better future, you have to change yourself. Stop
worrying about the various challenges that will come your way. Just believe in
yourself and use them as stepping-stones.

(d) Success can be measured from two standpoints—the external and the
internal. Externally it is the measure of a job well done and recognition.
Internally it the feeling of achievement and wholeness derived from the
completion of a task or fulfillment of desire

2X4=8

2.2

On the basis of your reading of the above extract, answer the following:
(a) (i) Triumph

(b) Abundance
(c) (i) Achievement
(d) Superficial

1x4=4

SECTION B (Writing & Grammar)

30

[Note: No marks to be awarded if only the format is given. Credit should
be given to the candidate’s creativity in presentation of the ideas,
appropriate use of language and skills of reasoning.]

Letter to place an order

Word limit; 100-150 words

Format— 1 mark (Sender’s address, 2. Date, 3. Receiver’s address, 4. Subject
Heading, 5. Salutation, 6. Complimentary Close)

Content— 4 marks

Expression— 3 marks (grammatical accuracy, appropriate words, spellings,
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coherence & relevance of ideas and style)

Suggested Value Points —

Placing and order to Apple Inc.

Order detail with approval of quotation
Mentioning the accessories needed

Detail about the quantity

Delivery date

Mode of payment

(any other relevant point to be given credit)

OR
[Note: No marks to be awarded if only the format is given. Credit should
be given to the candidate’s creativity in presentation of the ideas,
appropriate use of language and skills of reasoning.]

Article Writing

Word limit: 100-150 words

Format — 1 mark (Heading & Writer's Name)
Content — 4 marks

Expression — 3 marks (grammatical accuracy, appropriate words, spellings,
coherence & relevance of ideas and style)

Suggested Value Points —

¢ Mention the objective of a Clean India campaign by Indian Government

e Use of social messaging, education, communication to make the public
aware, increasing the green cover, effective waste management,
segregation of waste, adopting healthy clean habits, access to clean toilets
(Due credit for creative answers backed by logical arguments to be
given)

Story Writing

Word limit : 150-200 words

Format— 1 mark (Title)

Content — 4 marks (The story must start with the cue given in the question.
There must be clarity of plot, logical sequence of events, well defined

characters and an apt conclusion)

Expression — 5 marks (creativity, grammatical accuracy, appropriate words,
spellings, coherence & relevance, originality of ideas and style)

OR
Word limit : 150-200 words
Format — 1 mark (Title)
Content — 4 marks

e The picture provided is an important part of the story. The students must

10
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make sure that either the story revolves around the picture or the picture
forms an intrinsic part of the story.

e There must be clarity of plot, logical sequence of events, well defined
characters and apt conclusion.

Expression — 5 marks (creativity, grammatical accuracy, appropriate words,
spellings, coherence & relevance, originality of ideas and style)

Complete the passage by choosing the correct option given below. 1x4=4
a) ii) are
b) ii) are living
c) iii) and
d) i) the
Write the incorrect word and its correction against the appropriate blank 1x4=4
number.
Distribution of mark
(%2 mark to be awarded for identifying the error and ¥2 mark for giving the
correct answer)
a) in- of
b) from — of
c¢) through- by
d) or - and
Rearrange the following set of words and phrases to form meaningful 1x4=4
sentences.
(For a partially correct answer no mark to be allotted)
a) Over 40 percent of the world’s sugarcane is produced in India.
b) Ethyl alcohol extracted from sugarcane can be used as fuel for cars.
¢) Gasoline is not the only thing that can power automobiles.
d) Hydrogen also can be an alternative energy source.
30
SECTION C (Literature)
General Instructions: This section is meant to test the student’s
familiarity with and appreciation of the recommended texts. However, if
the faulty expression prevents clear communication % mark may be
deducted.
Read the extract given below and answer the questions that follow — 1x4=4
a) (i) Leslie Norris
b) (i) for his prey
c) for drinking water
d) stay hidden, not coming to the forefront
OR
a) (i) Sinclair Lewis
b) (ii) hack driver
c) Oliver's mother had shouted at them, threatened them with an iron from the
stove, laughed at them, driven them away.
d) looking inside, trying to find something
Answer any five of the following questions in 30-40 words each. 2x5=10

Distribution of marks:
Content — 1 mark
Expression — 1 mark

Suggested Value Points:
a) Anil contributed to magazines, wrote for a living, didn’t earn much, difficult

Page | 3




for Hari Singh to understand his profession

b) No new clothes for Bholi, old dresses passed on to her, nobody cared for or
mended her clothes, parents sent her to school as they thought there was a
little chance of her getting married.

c) Anne was very talkative, didn’t stop despite being punished, wrote an
essay as a punishment, justified her over-talkative nature.

d) One towards the society, one towards the family

e) Custard, the Dragon was very scared, cried for a safe cage, all laughed, it
was a coward.

f) Needed for all sorts of functions, like marriages, birthdays, part of
traditional cuisine, mothers prepare delicacies.

10 These questions have been set to test the student’s understanding of the 1x8=8
text and their ability to interpret evaluate and respond to the
themeslissues raised. Therefore, there can’t be just one correct answer.
All presentations logically supported by textual evidence must be
considered correct.

Content =4
Expression =4
Suggested Value Points:
Lencho- a simple person
Started correspondence with God, immense faith, asked for money
Received a lesser amount, blamed the post office employees
Didn’t realize the irony- they were the real helpers, who had contributed parts
of their salary.
Didn’t act practically
OR
Kisa went from home to home , asked for mustard seeds- where no one had
died,
unsuccessful in getting any, distraught on the loss of her only son
loses her senses, doesn’t accept reality, ignorant of the fact that death is
inevitable
Lesson- humans are mortal, face pain and suffering, no use grieving
11 These questions have been set to test the student’s understanding of the 1x8=8

text and their ability to interpret evaluate and respond to the
themesl/issues raised. Therefore, there can’t be just one correct answer.
All presentations logically supported by textual evidence must be
considered correct.

Content =4
Expression =4

Suggested Value Points:

Matilda longs for life of luxury and wealth, immerses herself in life of glamour
borrows a necklace when invited for a party, loses it, pays heavily

she and her husband work day and night, live in poverty to repay for it, she
loses all her charm, looks old and pale

it's better to be satisfied what you have, do not show off

OR
Valli’s earnest wish to ride on the bus and get to the nearest town
meticulous planning, strong will- power
Saved money, gathered required information, Waited patiently
Her confidence and dignity- made the conductor call her ‘Madam’
Displays extraordinary courage, completes the journey
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SAMPLE QUESTION PAPER (2019-20)
ENGLISH — Language and Literature (Code 184)
CLASS-X

Time allowed: 3 Hrs. Maximum Marks : 80

General Instructions:
1. This paper is divided into three sections: A, B and C. All questions are compulsory.
2. Separate instructions are given with each section and question, wherever necessary. Read

these instructions very carefully and follow them.

3. Do not exceed the prescribed word limit while answering the questions.

Section A: Reading

20 Marks

Q1

Read the passage carefully.
Red Cross: How Hope Evolved

On June 24, 1859, Emperors Napoleon Il and Franz Joseph | engaged in
the Battle of Solferino, commanding a combined total of about 270,000
troops onto the field for a single day of battle. Nearly 40,000 were either
dead, injured, or missing, many of whom were simply left to die on the
battlefield. Later, spectators crowded the fields, looking for loved ones,
searching for items they could sell, or simply taking in the horrors of the
battle .A Swiss businessman and social activist Jean Henri Dunant, who
was traveling in Solferino witnessed all this.

Jean Henri Dunantwitnessed the atrocities of war as well as the countries
not prepared or equipped to ease the suffering of those who had been
injured in the Battle of Solferino. Dunant organized a group of volunteers to
help bring water and food to the injured, to assist with medical treatment, or
write letters to the families of those who were dying and he urged the public
to create an organization which would assist the wounded, regardless of
which side they fought for during times of war. After that moment, he wrote
the book, A Memory of Solferino, which urged the public to create an
organization which would assist the wounded, regardless of which side
they fought for during times of war. His writing inspired countless others to
rally behind him in the creation of the International Federation of the Red
Cross.

The modern-day Red Cross began by devoting itself largely to disaster
relief and epidemic treatment. This effort continues to this day. One of the
easiest ways you can help the Red Cross is to make sure you are able to
donate blood and make an appointment at the Red Cross website. But,
donating blood isn't the only way you can help out—the Red Cross also
encourages donating your time if you can. This is what the Red Cross
wants everyone to know.

(https://www.rd.com/true-stories/red-cross-origin/)
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https://www.britannica.com/event/Battle-of-Solferino
https://www.amazon.com/dp/B00HBVTY80/?tag=readerwp-20
https://www.rd.com/health/wellness/reasons-not-able-donate-blood/
https://www.rd.com/health/wellness/reasons-not-able-donate-blood/
https://www.redcross.org/give-blood.html
https://www.rd.com/true-stories/red-cross-origin/

On the basis of your reading of the passage given above, answer the
following questions-

a. How many soldiers fought in the battle of Solferino on June 24?

. 270,000 ii. 40,000 iii. 230,000 iv. 23,000

b. What is the correct order of the information given below:
I. Dunant organised a camp of volunteers.
[I. Emperor Napoleon IlIl and Franz Joseph | fought a battle.
lll. The book ‘A Memory of Solferino was written.
IV. Dunant travelled in Solferino.

(A% 11 | o ) O 1 11V (1) I 1 O PR AV || I (AV) R T AV P 1
c. The writer of 'A Memory of Solferino’ was:

i. Emperor Napoleon llI
ii. Franz Josephl
iii. Jean Henri Dunant
iv. International Red Cross

d. The modern day Red Cross does not deal with:

i. Blood donation

. Disaster Relief
iil. Epidemic Treatment
iv. Writing a book

e. The most appropriate sub-heading to para 2 of the passage is:
i. How International Federation of Red Cross Evolved!
ii. Functions of Red Cross
iii. The Contributions of Jean Henri Dunant
iv. The Battle of Solferino

f. The aid provided by Dunant’s volunteers during the battle of Solferino
was:

. to help bring water and food to the injured
. to assist with medical treatment
Il. to write a book
IV. to give relief in epidemic
@ land i (i) Nand IV (i) land 11 (iv) Il and 11l

g. You can donate your blood and your to Red Cross.

h. Jean Henri Dunant participated in the war.( True/ False)

1x8=8
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Q2

Read the passage carefully-
The Road to Success

1. The Road to success is not straight; there is a curve called failure, a loop
called confusion, speed bumps called friends, caution lights called family,
and you will have flats called jobs. But, if you have a spare called
determination, an engine called perseverance, insurance called faith, and a
driver called God, you will make it to a place called success!

2. In spite of all our planning and preparation, unexpected challenges are
certain to arise. The bumps in the road are unavoidable, but you'll never
get to your destination if you aren’t willing to drive over them. The
difference between a disaster and triumph lies in whether or not you're
prepared and willing to weather the storm. If you're ready, those bumps will
become stepping-stones.

3. The key thing to realize is that working harder is same as working
smarter. How do you work smarter? You just need to have the right skills.
People want improved circumstances and better life without an improved
self. They want victory without paying the price or making efforts. It really
cannot happen without the other. Any improvements that have not been
generated by improving yourself are superficial and short-lived. If you want
to have a better future, you have to change yourself. Stop worrying about
the various challenges that will come your way. Just believe in yourself and
use them as stepping-stones.

4. “Success” is getting whatever you want out of life without violating the
rights of others.” It is not an accident. Success is the result of our
attitude and our attitude is a choice. Hence success is a matter of choice
and not chance.

5. Today success represents a holistic and positive attitude to life. Attitude
is everything. Success is not restricted within some kind of brick and mortar
premises. It assumes the individuality of a complete act executed with
perfection; material achievements do not define life. We don’t remember
sports stars for the products they endorse but the spirit of achievement
they represent. In the abundance of positive attitude underline the grandeur
of a truly rewarding rich life.

6. Success can be measured from two standpoints—the external and the
internal. Externally it is the measure of a job well done and recognition.
Internally it the feeling of achievement and wholeness derived from the
completion of a task or fulfillment of desire.

2.1 On the basis of your reading of the above extract, answer the following
guestions in 30-40 words each:

(a) What qualities lead one to the place called success?
(b) What is the difference between disaster and triumph?
(c) How can one have a better future?

(d) Describe two ways to measure success.

2.2 On the basis of your reading of the above extract, answer the following:

(a) The synonym of ‘victory’ as given in paragraph 2 is
(i) Planning  (ii) Preparation (iii) Triumph (iv) Challenges

(b) The synonym of ‘surplus’ as given in paragraph 5 is
(c) The antonym of ‘Defeat’ as given in paragraph 6 is
(i) Recognition (ii) Achievement (iii) Completion (iv) Success

2x4=8

1x4=4
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(d) The antonym of ‘deep’ as given in Paragraph 3 is

Section B: Writing & Grammar

30 Marks

Q3)

Q4)

Q5)

You are Neha/Nihal Singh, Computer In-charge of Army Public School.
Your school wishes to buy 20 computers and computer accessories from
Apple Inc., Nehru Place, New Delhi. Draft a letter placing an order for the
same. (100-150 words)

OR

The government has urged the people of India to realize the dream of
‘Clean India’. Write an article describing the measures that people can take
for a cleaner and greener India. You are Anju/Amit Kumar (100-150 words)

Complete the following story- (150-200 words)

Once there was an old man. He had four sons. They always quarreled with
one another. Onefineday.................ooiiinnl.

Taking cue from the picture given above, write a story in 150-200 words
For Visually Impaired candidates only-

Kunal- good student- determined- scored good marks- examination-
got late- helping an old man- teacher scolded- later appreciated- gave
exam- stood first

Complete the paragraph given below by filling in the blanks choosing the
correct option from those that follow-

Elephants (a) the largest land mammals. Three species of elephants
(b) living today. Elephants (c) other Elephantidae were
once classified with other thick skinned . The elephant’s gestation period is
22 months, (d) longest for any land animal.

@) (i) is (ii) are (iii) was (iv) were

(b) (i) are living (ii) have been living (iii) had been living (iv) will be
living

(8)

(10)

1x4=4
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(©) (i) with (ii) also (i) and (iv) but
() (i) a (ii) an (iii) which (iv) the

The following paragraph has not been edited. There is one error in each

Q6) line. Write the incorrect word and the correction in your answer sheet 1xa=4
against the correct blank number.
Error Correction
Tsunami is a series in waves (a)
generated in a body from water (b)
through an impulsive disturbance (c)
causing damage to property or loss of life. (d)
Rearrange the following sets of words and phrases to form meaningful _
Q7) | sentences- 1x4=4
a. of/ the world’s /sugar cane / in Asia / over 40 percent / is
produced
b. can be /used as fuel / ethyl alcohol / for cars / extracted /
sugar cane / from
c. not the /only thing / can power/ automobiles / gasoline is /
that
d. can be/ alternative /energy source / an / hydrogen/ also
Section C - Literature 30 Marks
Q8 Read the extract given below and answer the questions that follow. 1x4=4

“He should be lurking in shadow,
Sliding through long grass

Near the water hole

Where plump deer pass.”

a. The poem, “A Tiger in the Zoo” is written by
(i) Leslie Norris  (ii) William Blake
(i) Peter Niblett(iv) Robert Frost

b. The tiger should be lurking in the shadow
(i) for his prey (i) for taking rest
(iii) for leisure (iv) for scaring others

c. The deer frequents the water hole to

d. The phrase ‘lurking in the shadow’ here means

OR
‘| agreed that it was pretty disrespectful treatment. We did, however,
search the house. Since it was only one storey high, Bill went round it,
peering in at all the windows. We examined the barn and stable.”

a. Who does ‘I refer to-
(i) Sinclair Lewis (i) Carol Lewis
(i) Oliver Lutkins(iv) Leslie Norris
b. What was Bill's profession?
(i) Lawyer (i) hack driver
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Q9

Q10

Q11

(i) guide  (iv) drama artist
c. The disrespectful treatment faced by the speaker was
d. The phrase ‘peering in at all windows’ here means

Answer any five of the following questions in 30 to 40 words each.

Why did Hari Singh think that Anil’s job was queer?

Bholi was a neglected child. Explain.

Why did Mr.Keesing call Anne ‘an incorrigible chatterbox’?
Nelson Mandela speaks of “Twin Obligations’. Elucidate
Why did Belinda tickle the dragon?

How is bread an important part of life in Goa?

~ooooTw

Lencho had faith in God but lacked faith in humanity. Elaborate with
reference to ‘A Letter to God’.(100-150 words)

OR
Life is full of trials and tribulations which can be overcome by a human
being through his own efforts. Explain with reference to Kisa Gotami’s
life.(100-150 words)

Ostentation and vanity often land people in trouble. Matilda is an apt
example of this. Justify.(100-150 words)

OR
Valli shows extraordinary courage in taking a bus journey all alone. Explain

how ability and courage are essential to fulfill one’s dream. (100-150
words)

2x5=10
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Class - X
Mathematics-Basic (241)
Marking Scheme-SQP 2019-20

Max. Marks: 80 Duration: 3 hrs.
1. |(b) 42 (1)
2. | (a)2 Mean = 3 Median - Mode (1)
3. | (d)70° (1)
4. | (b) 5°x13 (1)
5. | (a) (1)
6. | (d) 4 (1)
7. | (c) 5.010010001.. (1)
8. |(c)3 (1)
9. | (b) 5 units (1)
10. | (b) (- 3, 5) (1)
11. | (2, 3) (1)
12. |2 OR 1 (1)
13. |1 1)
14. |0 1)
15. | 4:9 1)
16. [ Sin P = 1/ V2 (1)




OR

cosec A = 17/15

22
17. | Area of quadrant = i "% x r? = 38.5 (use m =) G
= r =7cm
1
~ diameter = 14 cm G
18. | 1 1
2
AD _ AE 1
19. | o= = (By B.P.T.) G
15 1
3  EC
. — 1
~EC=2cm (E)
20. |As = a, + 4d = 0 &)
1 +4d =0
1
d=-3 (E)
SECTION - B
1
21. P (Two Head) = Z 1)
(1)
22. | Good bulbs = 25 -5 = 20 ()]
P (good bulb) = 2% = = @)
OR

Of all those outcomes, the ones for which a + b = 8 are:
2+6, 3+5, 4+4, 5+3, 6+2 or 5 outcomes.

P = 5/36

(1)

(1)




23, A L B
(1)
C M D
£Z0LA = 90°
£20MD = 90°
£OLA = 2£0MD
Which are alternate angles, hence AB | CD
(1)
24. | LHS = tan 48° tan 23°tan 42°tan 67° ()]
=Cot (90°-48°) cot (90°-23°) tan 42° tan 67°
=Cot 42° cot 67° tan 42° tan 67° @)
=1
OR
=Cos 48°cos 42° - Sin 48° Sin 42° 1)
=Sin (90° - 48°) sin (90°-42°) - Sin 48° Sin 42°
=Sin 42° Sin 48° - Sin 48° Sin 42° = 0 (@0}
7
25. — (@0}
"T32
2
. nr _ 77 2
Area of Circle=—— = —cm
4 2
(1)
26. | (i) 3 Students
x%42x+1 (1)
(i) ——/——
x+1
(1)
(x+1)% _
= - x+1
x+1

SECTION - C




27. | X*-3x-10 = 0 (3)
x*-5x+2x-10 = 0
X(x-5) + 2(x-5)=0
(x-5) (x+2)=0
X =5, -2
-b 3
Sum of the roots = — = —
a 1
which is same as 5 -2 =3
c
product of the roots = E: -10
which is same as 5x(-2) = -10
Hence verified
28. | Correct construction of given circle Q)
Correct construction of two tangents (2)
OR
: : @)
Line of given length
2)
Correct position of point which divides the line segment in the given
ratio
29. | Area of track = 120 x 70 + 0 (35)* - [120 x 56 + 0 (28)7] (1)
= 120 x 14 + 2 [(35)° - (28)’]
:1680+7 x 7 x 63
= 1680 + 1386 1
=)
= 3066m° ( 2
1
Yes, Meena is wrong. (2)
30. LHS = CotA-cosd _ ggg;;— cos A ()]
cotA+cosA p— +cos A
— COSA(sirllA_ 1) — (sirllA_ 1)
- COSA(sirllA +1) - sir11A +1)
— cosecA-1 = RH.S (1)

cosecA+1




OR

tanA + sinA

L.HS. = -
tanA — sinA

Sin A .
_ CosatSINA  sinA [Sec A+1]

Sind _ osA  SinA [Sec A-1]
Cos A

= R.H.S

(1)

(1)

31.

Let us assume that 5 - /3 is a rational

We can find co prime a & b ( b# 0)such that
5-V3=~
Therefore 5 - — = V3

So we get Sbb_a= V3
. . 5b—a . . .
Since a & b are integers, we get —— Is rational, and so V3 is
rational. But /3 is an irrational number
Which contradicts our statement
~5 - /3 is irrational
OR

616 =32 x 19+8

=r=8%0
32= 8x4+0
=>r=0

The HCF of 32 and 616 is 8.

(1)

(2)

(1)

32.

(1)




In AOPA andAOPB

2PAO = £PBO (each 90°)
OP = OP(common)
0OA = 0OB(radii of same circle)
AOPA = AOPB (by RHS congruency axiom
Hence PA = PB (CPCT)

(1)

(1)

33.

() (6,4)
(i) V(6 —3)2+ (1—4)2 = 3+/2units
(iii) Sita and Rita

(1)
(1)
(1)

34.

2x + 3y = 11 -—--(1)
x-2y = -12 ----(2)
(2) 2x=2y-12 ----(3)

Substitute value of x from (3) in (1), we get
2(2y-12) +3y =11

=>4y-24+3y=11

=>7y=35

=y=5

Substituting value of y = 5 in equation (3), we get

x=2(5)-12=10-12=-2

Hence x = -2, y=5is the required solution
Now 5=-2m +3

=2m = 3-5

=2m=-2

m=-1

(1)

(1)

(1)

SECTION - D

35.

Let two consecutive positive integers be x and x +1




~x?+ (x+1)2 =365

=>x2+x—-182=0
(x+14)(x—-13) =0
~x=13
Hence two consecutive positive integers are 13 and 14

(1)

(1)

(1)

36.

Let common difference be d
14
= > [2(10) + (n — 1)d] = 1050
=d = 10

a20:a+19d
= 10 + 19 (10) = 200

OR

a, =45
S, =400

= (5+45) = 400
50n = 800

n=16

alsoa, =45

5+15d = 45
15d=40

d=8/3

(2)

(2)

(2)

(2)




37.

For correct fig

INAADC , tan45° = 2>
CD

1=25 cD =75
CD

75

In AADB , tan30° = —
BD

= BD = 75V3
=Distance between two ships = BC= 75 (v3 - 1)m
=549 m

(1)

(1)

(1)

(1)

38. | For correct, Given, To prove, construction and Figure (4 x}
2
= 2)
For correct proof (2
OR 1
5x—
( 2
For correct statement, Given, To prove, Construction and Figure N 2)




For correct proof

(1)

(2)

39. |AT. Q
mr? x1800 = mx>x=-x8
=>ri= % 1
1 (1)
=>r==
30
~ Thickness of wire = —cm (l)
15 2
OR
4
—nr3=nmR*h
4 3 2
3(42)°= (6)°h (2)
Sk = 24
100 1
(1)
~h=2-744cm L
G
40.
Daily Number of workers | Cumulative
Income Frequency
400-420 12 12
420-440 14 26
440-460 8 34




460-480 6

40

480-500 10

50

Correct Table
Drawing an ogive with co-ordinates
(420,12),(440,26),(460,34),(480,40), (500,50)

(2)

(2)

10



Class - X
Mathematics-Basic (241)

Sample Question Paper 2019-20

Max. Marks: 80 Duration: 3 hrs.

General Instructions:

a) All questions are compulsory

b) The question paper consists of 40 questions divided into four sections A, B, C & D.

c) Section A comprises of 20 questions of 1 mark each. Section B comprises of 6
questions of 2 marks each. Section C comprises of 8 questions of 3 marks each.
Section D comprises 6 questions of 4 marks each.

d) There is no overall choice. However internal choices have been provided in two
questions of 1 mark each, two questions of 2 marks each, three questions of 3 marks
each and three questions of 4 marks each. You have to attempt only one of the
alternatives in all such questions.

e) Use of calculators is not permitted.

SECTION - A

Q 1- 10 are multiple choice questions. Select the most appropriate answer from the

given options.

1. HCF of 168 and 126 is 1
(a) 21 (b) 42 (c) 14 (d) 18
2. Empirical relationship between the three measures of central tendency is 1




(a) 2 Mean = 3 Median - Mode (b) 2 Mode = 3
Median - Mean

(c) Mode = 2 Mean - 3 Median (d) 3 Median = 2

Mode + Mean

In the given figure, if TP and TQ are tangents to a circle with centre O, so
that £POQ = 110°, then «PTQ is

(a) 110° (b) 90°

(c) 80° (d) 70°

325 can be expressed as a product of its primes as

(a) 5°x7 (b) 5°x13
(c) 5x13? (d) 2x3?x5?

One card is drawn from a well shuffled deck of 52 cards. The probability
that it is black queen is

(a) 5 (b) = © = (d) =

The sum of the zeroes of the polynomial 2x*-8x +6 is

(@ -3 (b) 3 ) - 4
(d) 4

Which of the following is the decimal expansion of an irrational number

(a) 4.561 (b) 0.12 (c) 5.010010001... (d) 6.03




8. The following figure shows the graph of y = p(x), where p(x) is a
polynomial in variable x. The number of zeroes of the polynomial p(x) is
(@)1 (b) 2 (c)3 (d) 4
¥
o |
X
9. The distance of the point P (3, - 4) from the origin is
(&) 7 units (b) 5 units ()4 units
(d) 3 units
10. The mid point of the line segment joining the points (- 5, 7) and (- 1, 3) is

@ (-3, 7) (b) (-3, 5) (©) (-1, 5)
(d) (5 -3)

(11 - 15) Fill in the blanks:

11. The point which divides the line segment joining the points A (0, 5) and
B (5, 0) internally in the ratio 2:3 is
12. The pair of lines represented by the equations 2x+y+3 = 0 and 4x+ky+6 =

0 will be parallel if value of k is
OR

If the quadratic equation x* - 2x + k = 0 has equal roots, then value of k




13. The value of sin60° cos 30° + sin 30° cos 60° is

14. Value of cos 0°. Cos 30° .cos 45° . cos 60° . cos 90° is

15. The sides of two similar triangles are in the ratio 2:3, then the areas of
these triangles are in the ratio

(16 - 20) Answer the following :

16. APQR is right angled isosceles triangle, right angled at R. Find value of
sin P.

OR

If 15 cot A = 8, then find value of cosec A.

17. If area of quadrant of a circle is 38.5 cm? then find its diameter
22
(use m —7)
18. A dice is thrown once. Find the probability of getting a prime number.

19. In the given fig. If DE || BC Find EC.

1S5¢ 1 cm




20. Find the common difference of the A.P whose first term is 12 and fifth
term is O.
SECTION - B
21. If two coins are tossed simultaneously. Find the probability of getting 2
heads.
22. A lot of 25 bulbs contain 5 defective ones. One bulb is drawn at random
from the lot. What is the probability that the bulb is good.
OR
Two dice are thrown simultaneously at random. Find the probability of
getting a sum of eight.
23. Prove that the tangents drawn at the ends of a diameter of a circle are
parallel.
24, Show thattan 48° tan 23° tan42° tan67° = 1.
OR
Evaluate cos48° cos42° — sin48°sin42°
25. Find the area of circle whose circumference is 22cm.
26 Read the following passage and answer the questions that follows:

A teacher told 10 students to write a polynomial on the black board.
Students wrote

1. x?+2 6. x - 3

2. 2x + 3 7.x "+ X+ 1
3. %+ X+ 1 8. x° +2x + 1
4

X+ 2x2+ 1 9. 2x° - x°




5. x> -2x + 1 10. x* - 1

(i) How many students wrote cubic polynomial
(i) Divide the polynomial (x> + 2x + 1) by ( x + 1).

SECTION C
27. Find the zeroes of the quadratic polynomial x? —3x — 10 and verify the
relationship between the zeroes and coefficient.
28. Draw a circle of radius 4 cm.From the point 7 cm away from its centre,
construct the pair of tangents to the circle.
OR
Draw a line segment of length 8 cm and divide it in the ratio 2:3
29. Following figure depicts a park where two opposite sides are parallel and
left and right ends are semi-circular in shape. It has a 7m wide track for
walking
‘I
1
g N ey
Two friends Seema and Meena went to the park. Meena said that area of
the track is 4066m°. Is she right? Explain.
cotA—cosA __ cosecA-1
30. Prove that cotA+cosA  cosecA+1
OR
Prove that: tanA +sinA __ sec A+1

tanA —sinA  sec A-1




31.

Prove that 5 - /3 is irrational, given that /3 is irrational.

OR
An army contingent of 616 members is to march behind an army band of
32 members in a parade. The two groups are to march in the same
number of columns. What is the maximum number of columns in which
they can march ?

32.

Prove that the lengths of tangents drawn from an external point to a circle
are equal.

33.

Read the following passage and answer the questions that follows:

In a class room, four students Sita, Gita, Rita and Anita are sitting at
A(3,4), B(6,7), C(9,4), D(6,1) respectively. Then a new student Anjali joins
the class

10
9 R B e B
8 ~—t—
ity :
7k B+- ./
Rows G : ' s
& A : 58 C 5
2 . ....;;"_. C 0y
i} ol

1 2 3 4 5 6 7 .8 9 10
" Columns

(i) Teacher tells Anjali to sit in the middle of the four students. Find the

coordinates of the position where she can sit.

(i) Calculate the distance between Sita and Anita.

(i) Which two students are equidistant from Gita.




34.

Solve 2x+3y =11 and x— 2y = —12 algebraically and hence find the value
of ‘m’ for which y = mx + 3.

SECTION D

35.

Find two consecutive positive integers sum of whose squares is 365.

36.

If the sum of first 14 terms of an A.P. is 1050 and its first term is 10,
find the 20 ™ term.

OR

The first term of an A.P. is 5, the last term is 45 and sum is 400. Find
the number of terms and the common difference.

37.

As observed from the top of a 75m high light house above the sea level,
the angles of depression of two ships are 30° and 45° respectively If one
ship is exactly behind the other on the same side of the light house and
in the same straight line, find the distance between the two ships. (use 3
= 1.732)

38.

If a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points, then prove that the other two sides are divided
in the same ratio.

OR

State and prove the Pythagoras theorem.

39.

A copper rod of diameter 1 cm and length 8 cm is drawn in to a wire of
length 18 m of uniform thickness. Find the thickness of wire.

Or




A metallic sphere of radius 4.2 cm is melted and recast into the shape of

a cylinder of radius 6 cm. Find the height of the cylinder.

40.

The following distribution gives the daily income of 50 workers of a

factory

Daily income 400- 420-440 | 440-460 | 460-480 | 480-500
420

Number of 12 14 8 6 10

workers

Convert this distribution to less than type of cumulative frequency

distribution and draw its ogive.




Class X
Mathematics (Standard)
SQP Marking Scheme (2019-20)

Section-A

(c) 3 decimal places

(a) 165

(c) 20

(a) all real values except 10

(d) not defined

(@) v2-1

(d) 30°

(d) IV quadrant

O O N OO O | W| N -

(c) 4

[
o

(a) —12

| —
| —

nrl + 2nrh + mr?

=
N

4
OR
5

I I I I I

13

49 : 81

14

14, 38

15

3
11

16

Rational number= 0.30

Irrational number = 0.3010203040...

Or any other correct rational and irrational number

17

AACB~AADC (AA criterion)

N =




AC _ AB 1
AD _ AC 3
~AB=12cm
18
1
In AOBP,%Z = sin30° 2
OP
~ 0P =2r E
OR 2
1,1
Length of Tangent = 2x+52— 42 = 2x3cm=6cm 2 2
19 b,cand 2b are in AP = ¢ = % %
“bic=2:3 1
2
20 D = (2V2k)? — 4(1)(18) =0 = k = +3 11
2 2
Section-B
21 | 110, 120, 130, .. , 990
a, =990 = 110+ (n — 1) x 10 = 990 1
~n=289 1
22 D R C
/ \ AP = AS, BP=BQ, CR= CQ and DR= DS
=AP+BP+CR+DR=AS+BQ+CQ +DS 1
S Q >AB+CD=AD+CB
K / But AB =CD and AD = CB 1
A P B ~AB=AD
Hence, ABCD is a square.
23 AADE ~AGBD and AADE ~AFEC
= AGBD ~AFEC (AA Criterion) 1
-2 = 55, 6D x FE =GB x FC or FG? = BG x FC
FC FE 1

OR




B D C 1
2
AD L BC - In AABD,AB? = AD? + BD? 1
2 f—
= AB? = AD? + % or 4AB? = 4AD* + BC? 2
= 3AB? = 4AD?
24 (i) cos(90° — ) = cos(36 — 30")
=90" - 6= 30— 30> 6 = 30 1
. AB _ . °
(ii) “c = sin 30 1
~ Length of rope = AC =400m
25 For Jayanti,
Favourable outcome is (6,6) i.e, 1
1 1
Probability(getting the number 36) = .
For Pihu, 1

Favourable outcome is 6 i.e, 1

Probability(getting the number 36) =

~ Pihu has the better chance.
OR
Total number of integers = 29

(1) Prob.(prime number) = 2—69

(i) Prob.(number divisible by 7) = 24—9




26 Capacity of first glass = mr?H — %m‘3
=1 x9(10 — 2) = 72ncm?3 1
Capacity of second glass = nr?H —%m‘zh 1
=1 x 3% 3(10 — 0.5) = 85.57cm?
~Sureshgot more quantity of juice.
Section - C
27 |Let us assume, to the contrary, that 2v/5 -3 is a rational number
~24/5-3= Z , Where p and g are integers and q #0 1
=5 = p;r;q....(l)
Since p and g are integers - % is a rational number 1
~ /5 is a rational number which is a contradiction as V5 is an
irrational number 1
Hence our assumption is wrong and hence 25— 3 is an irrational
number.
OR 2
180 = 144 x 1+ 36
144 =36%x4+0 1
~ HCF(180, 144) = 36
36 =13m — 16
Solving, we get m =4
28 sm:5n=>§[2a+(m—1)d]:%[2a+(n—1)d] 1
=>2am—-n)+dm?>-m—-n?+n)=0 1
> (Mm-n)[2a+(m+n—-1)d]=0 or S,,,, =0 1
29 x+y=7and 2(x—y)+x+y+5+5=27 ~+1
1
~x+y=7and 3x —y =17 2
Solving, we get, x=6 and y=1 1




OR

Letl:a and l:b
x y

= 2la+47b =110 and 47a + 21b = 162

Adding and subtracting the two equations, we get
a+b=4and a—b=2

Solving the above two equations, we get a =3 and
b=1
X = % and y=1

30 |p(x) = x*+4x3 —2x% —20x — 15
x? —5is factor of p(x)
2 p(x) = (x? — 5)(x? + 4x + 3)
Or p(x) = (x* —=5)(x + 3)(x + 1)
So, all the zeroes of p(x) are v5,—V5,—3 and —1
31 () A7), B(42) C(-4,4)
Distance travelled by Seema = /34 units
Distance travelled by Aditya = V68 units
-~ Aditya travels more distance
. . 1+4 742\ _ ,5 9
(i)  Coordinates of D are (T’T) = (E’E)
(i) ar(AABC) = %[1(2 —4)+4(4—-T7) — 47 -2)]
=17 sq. units
32 sin@ + cos@ = /3= (sinf + cosh)? =3

= 1+ 2sinfcosfd = 3= sinfcosf =1
~tanf + cotd = sin 6 COS9:1

cos @ sin 0




OR
+ (cot30" + sin 90°) x (tan60” — sec0")

cos%(45°+60)+ cos?(45°—0)

tan(60°+8)x tan (30°-0)

__ c0s%(45°+0)+ sin?(45°+0)

+ (V/3+1) % — 2
tan(60°+60)x cot (60°+0) (\/§ 1) (\/§ 1)
=1+2=3 1
33 Required Area = Area of triangle - Area of 3 sectors
. 1
Area of Triangle = ;% 24 x 7 = 84 m? 1
r? )
Area of three sectors = 260° X(sum of three angles of triangle)
° 1
22x7x7%180 77
== =0r 19.25m?
7%2%2%x360 4
1
259
~ Required Area = — =0T 64.75 m?
34 | (i) Curve 1 - Less than ogive, Curve2 - More than ogive 1
(i) Median Rainfall = 21 cm 1
(i) 3 Median = Mode + 2 mean 1
~ Mode = 16.2 cm
Section-D
35 | Correct construction of given triangle 1
3 3
Correct construction of similar Awith scale factor 2
OR
Correct construction of given circle 1
Correct construction of two tangents 3
36 | For correct given, to prove, const. and figure (4 x
= 2)
2
For correct proof
37 |Let the original speed of the train be x km/h
360 360 __ 48 2
x xX+5 60 1

= x%+5x—2250=0




= (X+50)(x —45) =0 .~ x =45 1
Hence original speed of the train = 45km/h
OR
1 1
- - — =3
X x—2
1
X—2—-x _ 3
x(x—-2) 1
1
3x%2 -6x =-2
3x2 -6x +2=0 .
6 ++/12
X = 1
6
_ 3+V3 3-13
. 3 ' 3
38 Capacity of tank = 27 x 20 x (10% + 252 + 10 x 25)m3 )
= x 20 x325m3 = 7 x20 x 3251 17
Cost of petrol = x 20 x 325 x 70 = 31430000 E
2
Slant height = /202 + (25 — 10)2 = 25m !
Surface area of tank = m x 25(10 + 25)m? = 2750m? 1
OR
2
Quantity of water flowing through pipe in 1 hour
= T X —— x —— x 15000m3 2
100 100
Required time = (50 x 44 x i) = (mr x L x L x 15000)
100 100 100

= 2 hours




39

E D
0"
309
A C
1
Correct figure
In AABE,% = tan 60’ 1
= AB = 3000 m
In ADAC,% = tan30° 1
= AC = 9000 m L
BC = AC — AB = 6000m 2
1
. Speed of aeroplane = %m/s = 200m/s 2
40 Daily Number of X; u; fiu;
Wages(in Workers(f;)
Rs.)
100-120 10 110 -3 -30
120-140 15 130 -2 -30
140-160 20 150 -1 -20
160-180 22 170 0 0
180-200 18 190 1 18
200-220 12 210 2 24 9
220-240 13 230 3 39
Total 110 1 1
Mean daily wages =170 + ﬁ x 20 = X170.19(approx.) 1

22-20
44—-20-18

Mode = 160 +

x 20 = ¥ 166.67(approx.)




Class X
Mathematics —Standard (041)
Sample Question Paper 2019-20

Max. Marks: 80 Duration : 3 hrs

General Instructions:

0] All the questions are compulsory.

(i) The question paper consists of 40 questions divided into 4 sections A, B, C, and D.

(i)  Section A comprises of 20 questions of 1 mark each. Section B comprises of 6 questions of
2 marks each. Section C comprises of 8 questions of 3 marks each. Section D comprises of
6 questions of 4 marks each.

(iv)  There is no overall choice. However, an internal choice has been provided in two
questions of 1 mark each, two questions of 2 marks each, three questions of 3 marks
each, and three questions of 4 marks each. You have to attempt only one of the
alternatives in all such questions.

(v) Use of calculators is not permitted.

SECTION A

Q 1- Q 10 are multiple choice questions. Select the most appropriate answer from the
given options.

11 .
g Will 1

a) terminate after 1 decimal place

b) terminate after 2 decimal places
c) terminate after 3 decimal places

d) not terminate

1 | The decimal representation of




Consider the following frequency distribution of the heights of 60 students of a class

Height (in | 150-155 | 155-160 |160-165 |165-170 |170-175 |175-180
cm)

No of 15 13 10 8 9 5
students

The upper limit of the median class in the given data is

a) 165
b) 155
c) 160
d 170

The LCM of smallest two digit composite number and smallest composite number is
a) 12
b) 4
c) 20
d) 44

For which value(s) of p, will the lines represented by the following pair of linear
equations be parallel

3x—y—5=0
6x—2y—p=0
a) all real values except 10
b) 10
c) 5/2

d) 1/2




If triangle ABC is right angled at C, then the value of sec (A+B) is
a) 0
b) 1
2
C) E
d) not defined

If sin@ + cos® = /2cos6, (6 # 90°) then the value of tané is
a) v2—-1
b) vV2+1
c) V2
d) —/2

Given that sina = ? and cosp = 0, then the value of § — a is
a) 0
b) 90
c) 60°
d) 30

The point which divides the line segment joining the points (8,-9) and (2,3) in
ratio 1 : 2 internally lies in the

a) | quadrant

b) Il quadrant

c) Il quadrant

d) IV quadrant

The distance of the point P (=3, —4) from the x-axis (in units) is
a) 3
b) -3
c) 4
d 5




10

If A(%,S)is the mid-point of the line segment joining the points Q (- 6, 7) and
R (- 2, 3), then the value of m is

a) —12
b) -4
c) 12
d) —6

(Q 11- Q 15) Fill in the blanks

11 | The total surface area of the given solid figure is
[
r
h
12 | If one root of the equation (k — 1)x? — 10x + 3 = 0 is the reciprocal of the other, then the
value of k is
OR
The graph of y = p(x), where p(x) is a polynomial in variable x, is as follows:
AY
X
o\ VA\ >
The number of zeroes of p(x) is
13 | The perimeters of two similar triangles AABC and APQR are 35cm and 45cm

respectively, then the ratio of the areas of the two triangles is




14 | Fill the two blanks in the sequence 2, , 26, so that the sequence forms an
A.P
15 | A number is chosen at random from the numbers -5, -4, -3, -2, -1, 0, 1, 2, 3, 4, 5. Then

the probability that square of this number is less than or equal to 1 is

(Q 16- Q 20) Answer the following

16 | Write one rational and one irrational number lying between 0.25 and 0.32
17 | In the figure, if ZACB = ZCDA,AC = 6 cm and AD = 3cm, then find the length of AB
C
A B
D
18 | If the angle between two tangents drawn from an external point ‘P’ to a circle of radius ‘r’
and centre O is 60°, then find the length of OP.
OR
If the radii of two concentric circles are 4 cm and 5 cm, then find the length of each
chord of one circle which is tangent to the other circle.
19 | If the first three terms of an A.P are b, ¢ and 2b, then find the ratio of b and ¢
20 | Find the value(s) of k for which the quadratic equation x? + 2+/2kx + 18 = 0 has equal
roots
Section — B
21 | Find the number of natural numbers between 102 and 998 which are divisible by 2 and 5
both.
22 | Prove that the rectangle circumscribing a circle is a square.




23 | In the given figure, DEFG is a square and ZBAC = 90°. Show that FG*= BG x FC
A
D E
B G F C
OR
In an equilateral triangle, prove that three times the square of one side is equal to four
times the square of one of its altitudes.
24 | ‘Skysails’ is that genre of engineering science that uses extensive utilization of wind

energy to move a vessel in the sea water. The ‘Skysails’ technology allows the towing
kite to gain a height of anything between 100 metres — 300 metres.
The sailing kite is made in such a way that it can be raised to its proper elevation and
then brought back with the help of a ‘telescopic mast’ that enables the kite to be raised
properly and effectively.

Based on the following figure related to sky sailing, answer the questions:

(i) In the given figure, if sin 8 = cos (36 — 30°), where 6 and 30 — 30° are acute
angles, then find the value of 6.

(i)  What should be the length of the rope of the kite sail in order to pull the ship at
the angle 6 (calculated above) and be at a vertical height of 200 m?




25 | Jayanti throws a pair of dice and records the product of the numbers appearing on the
dice. Pihu throws 1 dice and records the squares the number that appears on it. Who
has the better chance of getting the number 36? Justify?

OR
An integer is chosen between 70 and 100, Find the probability that it is
(a) a prime number
(b) divisible by 7

26 | Isha is 10 years old girl. On the result day, Isha and her father Suresh were very happy
as she got first position in the class. While coming back to their home, Isha asked for a
treat from her father as a reward for her success. They went to a juice shop and asked
for two glasses of juice.

Aisha, a juice seller, was serving juice to her customers in two types of glasses.
Both the glasses had inner radius 3cm. The height of both the glasses was 10cm.
>
i
ey,
First type: A Glass with hemispherical raised bottom.
Second type: A glass with conical raised bottom of height 1.5 cm.
Isha insisted to have the juice in first type of glass and her father decided to have the
juice in second type of glass. Out of the two, Isha or her father Suresh, who got more
guantity of juice to drink and by how much?
Section C
27 | Given that V/5 is irrational, prove that 2+/5 — 3is an irrational number.

OR

If HCF of 144 and 180 is expressed in the form 13m-16. Find the value of m.




28

If the sum of first m terms of an AP is the same as the sum of its first n terms, show
that the sum of its first (m+n) terms is zero.

29

In the figure, ABCDE is a pentagon with BE||CD and BC||DE. BC is perpendicular to
CD. AB= 5cm, AE=5cm, BE= 7cm, BC= x-y and CD= x+y. If the perimeter of ABCDE is
27cm. find the value of x and y, given x, y # 0.

A

OR

Solve the following system of equations:

21 47
—+ — =110
y

47

;+%: 162, x,y#0

30 | Obtain all the zeros of the polynomial x*+4x3-2x?-20x-15, if two of its zeroes are v5 and
—/5.
31 | Two friends Seema and Aditya work in the same office at Delhi. In the Christmas

vacations, both decided to go to their hometowns represented by Town A and Town B
respectively in the figure given below. Town A and Town B are connected by trains
from the same station C (in the given figure)in Delhi.Based on the given situation,
answer the following questions:




Town A
L 2

Station C
®

Town B

0] Who will travel more distance, Seema or Aditya, to reach to their hometown?

(i) Seema and Aditya planned to meet at a location D situated at a point D
represented by the mid-point of the line joining the points represented by
Town A and Town B. Find the coordinates of the point represented by the
point D

(iif)  Find the area of the triangle formed by joining the points represented by A, B
and C.

32 | If sin © + cos 8 = /3, then prove that tan 6 + cot 6 =1
OR
Evaluate:
C::;((:;:g;::;;zéis_;? + (cot30" + sin 90°) x (tan60’ — sec 0")
33 | Sides of a right triangular field are 25m, 24m and 7m. At the three corners of the field, a

cow, a buffalo and a horse are tied separately with ropes of 3.5 m each to graze in the
field. Find the area of the field that cannot be grazed by these animals.




34

A TV reporter was given a task to prepare a report on the rainfall of the city
Dispur of India in a particular year. After collecting the data, he analyzed
the data and prepared a report on the rainfall of the city. Using this report,
he drew the following graph for a particular time period of 66 days

0 T

40 -

30 ceesliees CUNVE 1

20 e
10 Aoy

Cumulative Frequency
o
\

0 10 20 30 40 50 60 70

Rainfallin cm

Based on the above graph, answer the following questions:

(i) ldentify less than type ogive and more than type ogive from the given graph.
(i) Find the median rainfall of Dispur
(i) Obtain the Mode of the data if mean rainfall is 23.4cm

Section - D

35

Draw a triangle ABC with side BC=6.5cm, «B=30", zA =105". Then construct another
triangle whose sides are % times the corresponding sides of the triangle ABC.

OR

Construct a pair of tangents to a circle of radius 3 cm which are inclined to each other at
an angle of 60°

10



36

Prove that if a line is drawn parallel to one side of a triangle to intersect the other two
sides in distinct points, then the other two sides are divided in the same ratio.

37

A train covers a distance of 360 km at a uniform speed. Had the speed been 5km/hour
more, it would have taken 48 minutes less for the journey. Find the original speed of the
train.

OR
Solve the following equation:

R |+~

L -3x#02
x—2

38

A petrol tank is in the form of a frustum of a cone of height 20 m with diameters of its
lower and upper ends as 20 m and 50 m respectively. Find the cost of petrol which can
fill the tank completely at the rate of Rs. 70 per litre. Also find the surface area of the
tank.

OR

Water is flowing at the rate of 15km/hour through a pipe of diameter 14cm into a
cuboidal pond which is 50m long and 44m wide. In what time will the level of water in the
pond rise by 21cm?

39

The angle of elevation of an airplane from a point on the ground is 60°. After a flight of
30 seconds, the angle of elevation becomes 30°. If the airplane is flying at a constant

height of 3000+/3 m, find the speed of the airplane.

40

Daily wages of 110 workers, obtained in a survey, are tabulated below:

Daily | 100-120 | 120-140 | 140-160 | 160-180 | 180-200 | 200-220 | 220-240
Wages
(inRs.)
Number 10 15 20 22 18 12 13

of
Workers

Compute the mean daily wages and modal daily wages of these workers.

11
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CLASS X
SCIENCE: 086

Marking Scheme for Sample Question Paper 2019-20

SECTION A
1 |The property of self-linking of atoms of an element through covalent bonds in order to form straight| 1 mark
chain, branched chains or cyclic chains of different sizes is called catenation.
2 |The valency of an element first increases and then decreases across a period. 1 mark

3(a) |The principle behind electric generator is Electromagnetic Induction- the phenomenon of producing| 1 mark
current in a coil by changing the magnetic field associated with it.

3(b) | The polarity of the output alternating current changes every 1/100 seconds. 1 mark
Alternately:

In 1 second the output (AC) completes 50 cycles.

3(¢) | The suitability of Muppandal as a site for wind farms stems from its geographical location as it has access| 1 mark
to the seasonal monsoon winds.

3(d) |City A 0.5 mark
It is more suitable for a wind-farm as there is consistently high wind-speed in that city throughout the| 0.5 mark
year.

4(a) |Diabetes 1 mark

4(b) |Insulin 1 mark

4(c) |iv) low sugar high fibre diet 1 mark

4(d) |1) 180mg/dL 1 mark

5 |ii) pupils take time to adjust 1 mark
OR
ii) refraction
6 |ii))=40 Q. 1 mark
V=IR, V=4V, I=100mA =0.1 A
Hence R=V/I1=4/0.1 Q=40 Q.
7 |i) volt-ampere 1 mark
Power = Voltage x Current.
8 |iv) Human faecal matter 1 mark
OR
iv) The Industralist
9 |iii) Carbon monoxide 1 mark
10 |iv) Decomposition of calcium carbonate to form quick lime and carbon dioxide. Imark
11 |i) Na,CO; Imark




12 iii) C Imark
OR
iii) Q and R
13 |i) Both assertion and reason are true and reason is the correct explanation of assertion. Imark
14 |iv) Assertion is false but reason is true. 1 mark
SECTION B
15 |(i) It turns yellow due to formation of lead oxide and Reddish brown fumes evolve. 0.5+0.5
(i) Thermal decomposition reaction. mark
heat
(iii) 2Pb(NO3), ——2PbO + 4NO, + O, 1 mark
1 mark
16 |(i) Sodium bicarbonate/Sodium hydrogencarbonate/ baking soda and its formula is NaHCO; 0.5+0.5
heat mark
(i1)) 2NaHCO; ——» Na,CO;+ CO,+ H,0 1 mark
(ii1) It is used in fire extinguisher and for baking. (any one) 1 mark
OR
(i) Add 10 mL of concentrated sulphuric acid slowly to 90 mL of water with constant stirring. 1 mark
Dilution of acid is a highly exothermic process. If water is added to concentrated sulphuric acid, heat| | mark
generated causes the mixture to splash leading to burns and the glass container can break. | mark
(i1) Decreases per unit volume.

17 |Electronic configuration of X:2,8,2, Y:2,8,6 0.5+0.5
Both X and Y belong to 3rd period. mark
Tonic bond will be formed. 0.5 mark
Reason: X will lose 2 electrons and Y will gain 2 electrons to complete their octet and become stable. I mark
Formula is XY 0.5 mark

18 |A food chain showing Ist tropic level (2 mark), e tropic level (%2 mark), e tropic level 2 mark

(%2 mark) and TV™ tropic level (2 mark).
A flow chart or a diagrammtic representation showing all the four tropic levels would also be accepted
According to the 10% law, the amount of energy available will not be sufficient for the survival of the| 1 mark
organism in the 5th trophic level.
OR

* Large jar filled with water, oxygen, food and aquatic plants and animals.

* Oxygen/oxygen pump.

* Fish food.

* Aquatic plants/Producers provide O, during photosynthesis.

3 mark

* Aquatic animals/Consumers release CO,; for the process of photosynthesis.
* Decomposers are also important for natural cleaning of the aquarium.

(0.5 mark for each point)




19 Ethanol + CO, + Energy 1+1+1
Absence of (2-Carbon molecule) mark
oxygen :

(Yeast)
In : :
Glucose ——————» Pyruvate » Lacticacid + Energy
(6-Carbon ~ Cytoplasm (3-Carbon\ Lack of O, (3-Carbon molecule)
molecule) molecule) \ (Muscle cells)
+
Energy
— CO, +H,0 + Energy
Presence of O,
(Mitochondria)
20 |Let purple trait be represented by: PP White trait be : pp
parental PP X pp
l 0.5+1+
F, Pp X Pp (Selfing) 0.5 mark
F,
!
Gametes P p
P PP Pp
p Pp pp
0.5+0.5
mark
Visible characters of F1 progeny all flowers are purple coloured and in F2 progenies 3 are purple
coloured and 1 is white coloured flower
21 When growing plant shoot tip detects light a hormone called auxin is synthesised in the shoot tip which| 1 mark
is sensitive to light. 0 5mark
Auxin diffuses towards the shady side of the stem. ) N
It stimulates the growth of cells on the shady side of the plant which causes bending of the plant to the 1 mar
other side.
This gives the appearance that the stem of the plant bends in the direction of light. 0.5 mark
22 (i) Range of distance should be 0 cm to < 12 cm. 0.5 mark
(i1) The image will larger than the object.
. o
c ; 1.5 mark
,-r— & B
(0.5 mark to be deducted if no arrows marked or wrongly marked arrows)
(ii1) Image will be at 24cm in front of the mirror or the image is formed at C 1 "
mar




23

A
earth
wire
Live =
OO — -
wire - 90 V (o] (o)
Neutral . < —> OO’ @O)
wire bulb f POWER PLUG
an  fridge
Electricity Electricity
board’s fuse meter
\ 4 1 mark
0.5+0.5
(i) Four components should be labelled. mark
(ii) All of them should be in parallel and there should be a fuse for safety. I mark
(ii1) Live and earth wires should be there.
(0.5 mark to be deducted if all parts of the diagram are not labeled)

24 |(i) The phenomenon is called dispersion. 1 mark
(i) X — Violet Y — Red 0.5+0.5
(iii) Different colours of white light bend through different angles with respect to the incident beam of mark
light due to difference in speed of light of different wavelengths. 1 mark
OR
(i) Visible spectrum is the band of coloured components of a white light beam . 1 mark
(i1) Red light is scattered the least by air molecules and has longer wavelength. It travels the longest| 1 mark
distance.

(iii) The given setup will behave like a glass slab, resulting in recombination of the seven colours to 1 mark
produce white light.
SECTION C

25 |Metal X is Zinc 1 mark
The sulphide ore is first heated strongly in supply of oxygen and changed into its oxide. This process
is called roasting. 1 mark

heat 1 mark
27ZnS + 30, 27n0 + 250,
—>
Zinc oxide is then reduced to zinc metal by heating it with carbon. This process is called reduction.
2Zn0O + C 27n + CO, 1 mark
—>
1 mark




OR

(1)  Asitreacts with both acids as well as bases to form salts.

1 mark
(i) Iron being more reactive than copper displaces copper from copper sulphate to form green
ferrous sulphate solution. 1 mark
(ii1) Nitric acid is a strong oxidising agent. Hydrogen gas produced gets oxidised to H,O.
1 mark
(iv) Calcium is a very reactive metal. It reacts with the chemicals in surroundings and occurs in
combined state.
1 mark
(v)  Sodium and potassium are highly reactive metals and react vigorously with oxygen in air and
may even catch fire. They do not react with kerosene. 1 mark
26 (i) D is a saturated hydrocarbon 0.5 mark
(i1) B is an organic acid. 0.5 mark
)
Structural formula H-C-C
\
Ill O o H 0.5 mark
(ii1) C is the compound. 0.5 mark
It acts as a dehydrating agent and removes a water molecule from ethanol. 0.5 mark
hot conc. H,SO4 1 mark
C,H;OH » C,H,+H,0
(iv)
conc H,SO, 1 mark
CH;COOH + C,H;OH » CH;COOC,H; +H,0 0.5 mark
Major product is Ester and it is used in making perfumes / flavouring agents.
27 |(i) Oxygenated : B/D/F [ B= left ventricle/D=aorta/F=left auricle/pulmonary vein] 0.5+0.5+
Deoxygenated: A/C/E [A= right ventricle/C= pulmonary artery/E=right auricle/vena cava] O.Ii;r(l)(j

(any two)




(i)

ey 3 mark
> LUNGS >
——t Pulmonary
¥ vein 1/2 mark
{Oxygenated
blood)
blooc? EB
£ " Left e e
! ’,‘ N\ /”‘
(N Right P
| | ventricie | | ventricie i
’ HEART lM:un artery
\“;J* 1 mark | pone) o 1/2 mark
{Decxygenated | | blood)
biood) : |
1/2 mark | [ N j
et BODY ORGANS e’
(I mark should be deducted if the arrows are not correctly marked)
®
Binary Fission 3 mark
Plasma
TR 7 membrane
“'_%& - Cell wall
DNA
W DNA duplicates
= Cell
THEE SERE ) begins
28 to divide.
Daughter cells
Separate.
(i) Multicellular organisms cannot reproduce by cell because they are not simple random 2 mark
collection of cells. In them, specialized cells are organized as tissues which are organized into
organs. Cell-by-cell division would be impractical. Multicellular organisms, therefore, require
to use more complex ways of reproduction.
OR
(i) Prostate glands and seminal vesicle : add their secretions so that the sperms are in a fluid and it
makes their transport easier and also provides nutrition.Testes secrete testosterone which brings about| 3 mark
changes in the appearances in the boys at the time of puberty.
(i) Female foeticides/illegal sex selected abortion of female foeticide. 1 mark
(ii1) Interfere in release of egg and eggs are not released. 1 mark
29 |(i) Resistivity will not change as it depends on the nature of the material of the conductor. 1 mark
(i1) The length of each part becomes L/4. p,A constant.
0.5 mark

R=pL/A.
Resistance of each part = R.«= (pL/4)/A = R/4.




(2) In parallel the — = —— + — 4 — 4+ —— =1 =22 _,R_-R/I16Q 0.5 mark
Kags Nparr  Sparr Mpaee Mpor Wpars H
(b) In series the Reqv= R/4+ R/4 +R/4+R/4=R Q
1 mark
(iii) P=V*/R.
1 mark
If Reqy 1s less, power consumed will be more.
0.5 mark
In the given case, Reqy is lesser in the parallel and power consumed will be more. 0.5 mark
30 |(i) The image will be real and inverted, since the magnification has negative value. 1 mark
The lens that can produce a real and inverted image is a converging/ convex lens.
M
:‘ > ('!\
sC. il - 2 mark
2F ! |© T~~F 2F,
(1/2 mark should be deducted i "E_,_, "
In the figure OF,= OF, = 6 cm.
(Marks will be deducted if arrows are not shown)
(i) The girl must have directed the ray of light along the direction of the optical centre of the lens
because the ray of light passes straight through the optical centre of the lens. 1 mark
1 mark
OR
(i) Refractive Index of a medium (p) = Velocity of light in vacuum / Velocity of light in the medium.
Let the velocity of light in vacuum be v, and velocity of light in the medium be v,.
V1 /2=v,.
Hence p=v,/v,. 0.5 mark
=vi/(vi/2).
=2 1 mark
(i1) 0.5 mark

(a) The ray moves towards the normal.




(b) The ray moves undeviated.

(c) The ray moves away from the normal.

1 mark

1 mark

1 mark
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Class-X

Science-086
SAMPLE QUESTION PAPER 2019-20

TIME: 3 Hrs. M.M.: 80

General Instructions:

1. The question paper comprises three sections — A, B and C. Attempt all the sections.
2. All questions are compulsory.

3. Internal choice is given in each section.

4

All questions in Section A are one-mark questions comprising MCQ, VSA type and
assertion-reason type questions. They are to be answered in one word or in one sentence.

5. All questions in Section B are three-mark, short-answer type questions. These are to be
answered in about 50 - 60 words each.

6. All questions in Section C are five-mark, long-answer type questions. These are to be
answered in about 80 — 90 words each.

7. This question paper consists of a total of 30 questions.

SECTION A
1 Define catenation. 1
2 How does valency of an element vary across a period? 1
3 Answer question numbers 3(a) - 3(d) on the basis of your understanding of the

following paragraph and the related studied concepts.

Renewable energy sources such as wind energy are vital for the Indian economy, not only
from the point of view of supply, but also from the perspective of environmental and
social benefits. India is the world’s fifth largest wind-power producer and the largest
windmill facilities in India are installed in Tamil Nadu. Muppandal is a small village of
Tamil Nadu and one of the most important sites of wind-farm in the state. It uses wind
from the Arabian Sea to produce renewable energy. The suitability of Muppandal as a site
for wind farms stems from its geographical location as it has access to the seasonal
monsoon winds.

Tl B

The electrical generators used on wind turbines in sites like Muppandal, produce an
output AC of 240 V and a frequency of 50 Hz even when the wind speed is fluctuating. A
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transformer may be required to increase or decrease the voltage so it is compatible with
the end usage, distribution or transmission voltage, depending on the type of

interconnection.
3(a) State the principle behind electric generator. 1
3(b) The output frequency of wind turbine is 50 Hz. What is meant by this statement? 1
3(c) Why do you think Muppandal is at an advantageous position for this project? 1

3(d) Based on the data represented in the graph below, which of the two cities A or B would be 1
an ideal location for establishing a wind-farm and why?

160

City A==.
City B —|

140

120

100

80

Wind-speed in Km/h

60

L 1 1 1 1 1 I | | L
Jan Feb Mar Apr May Jun Jul Aug Sep QCct Nov Dec
Months

4 Question numbers 4(a) - 4(d) are based on the two tables given below. Study these
tables related to blood sugar levels and answer the questions that follow.

Table A (Blood glucose chart)

Mean Blood Glucose Level (mg/dL)

Doctor’s advice 380
needed 150
315
280
250
215
Good 180
150
Excellent 115

80
50
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Table B (Blood Report of Patient X and Y)

Time of check Blood Glucose ranges (mg/dL)
Patient X Patient Y

Before breakfast (Fasting) <100 70 — 130

Before lunch, supper and <110 70 - 130

snack

Two hours after meals <140 <180

Bedtime <120 90- 15

4(a) Refer to Table B showing the blood report of the levels of glucose of patients X and Y. 1
Infer the disease which can be diagnosed from the given data.

4(b) Identify the hormone whose level in the blood is responsible for the above disease. 1

4(c) Which one of the following diets would you recommended to the affected patient? 1
i) High sugar and low fat diet.
ii) Low sugar and high protein diet.
iii) High Fat and low fiber diet.
iv) Low sugar and high fiber diet.

4(d) Refer to the Table A and suggest the value of the mean blood glucose level beyond which 1
doctor’s advice is necessary:

1) 180 mg/dL
ii) 115 mg/dL
iii) 50 mg/dL
iv) 80 mg/dL

5 When we enter a dark room coming from outside, immediately the things inside the room 1
do not appear clear to our eyes. This is because

1) pupils do not open at all in the dark.
ii) pupils take time to adjust.
iii) light travels slower in a dark room.
iv) pupils open very quickly in the dark.
OR

The phenomena of light responsible for the working of the human eye is
i) reflection

ii) refraction

iii) power of accommodation

iv) persistence of vision
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6 When a 4V battery is connected across an unknown resistor there is a current of 100 mA
in the circuit. The value of the resistance of the resister is:

) 4Q
i) 40Q
i) 400 Q
iv) 0.4 Q
7 Unit of electric power may also be expressed as: 1
1) volt-ampere
i1) kilowatt-hour
iii) watt-second
iv) joule-second

8 It was found that water from a river was contaminated with Coliform bacteria. Which one 1
of the following pollutant might have got mixed with the water?

1) Fertilizer run off
i1) Industrial waste
iii) Pesticides
iv) Human faecal matter
OR

Which one of the following stakeholders of forests causes the maximum damage to
forest?

i) People who live in or around the forest
i1) The forest department of the government
iii) The wildlife and native enthusiasts

iv) The industrialists

9 Which one of the following green house gases is a contributor due to incomplete 1
combustion of coal and petroleum?

1) Oxides of nitrogen
ii) Methane
iii) Carbon monoxide
iv) Carbon dioxide
10 Which of the following reactions is an endothermic reaction? 1
1) Burning of coal.
i1) Decomposition of vegetable matter into compost.
iii) Process of respiration.
iv) Decomposition of calcium carbonate to form quick lime and carbon dioxide.
11 Identify the basic salt from the following salts: 1
1) Na,CO;
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i) NH,CI
iii) NaNO;
iv) KCl

12 The positions of four elements A, B, C and D in the modern periodic table are shown 1
below. Which element is most likely to form an acidic oxide?

) A
ii) B
i) C
iv) D

OR

Elements P, Q, R and S have atomic numbers 11, 15, 17 and 18 respectively. Which of
them are reactive non-metals?

i) P and Q
ii) Pand R
iii) Q and R
iv)Rand S

For question numbers 13 and 14, two statements are given- one labeled Assertion (A) and the
other labeled Reason (R). Select the correct answer to these questions from the codes (i), (ii),
(iii) and (iv) as given below

i) Both A and R are true and R is correct explanation of the assertion.

ii) Both A and R are true but R is not the correct explanation of the assertion.
iii) A is true but R is false.

iv) A is false but R is true.

13 Assertion: Following are the structural isomers of butane. 1
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H H H
| | |
H H H H H—-C—C—C—-—H
E 1 1 1 ' '
H=C=C=C=C=H H H
| | | |
H H H H H—?—H
H

Reason: Structural isomers have the same molecular formula but they differ in their
structures.

14 Assertion: A fuse wire is always connected in parallel with the mainline. 1

Reason: If a current larger than the specified value flows through the circuit, fuse wire
melts.

SECTION B

15 (1) Write two observations when lead nitrate is heated in a test tube. 3
(i) Name the type of reaction.
(ii1) Write a balanced chemical equation to represent the above reaction.
16 A compound ‘X’ of sodium is used as an antacid and it decomposes on strong heating. 3
(i) Name the compound ‘X’ and give its chemical formula.
(i) Write a balanced chemical equation to represent the decomposition of ‘X’.
(ii1) Give one use of compound ‘X’ besides an antacid.
OR

You are provided with 90 mL of distilled water and 10 mL of concentrated sulphuric acid
to prepare dilute sulphuric acid.

(i) What is the correct way of preparing dilute sulphuric acid? Give reason.

(ii) How will the concentration of H3O "ions change on dilution?

17 Two elements X and Y have atomic numbers 12 and 16 respectively. To which period of 3
the modern periodic table do these two elements belong? What type of bond will be
formed between them and why? Also give the chemical formula of the compound
formed.

18 (i) Create a terrestrial food chain depicting four trophic levels. 3
(i1)) Why do we not find food chains of more than four trophic levels in nature?
OR

How will you create an artificial aquatic ecosystem, which is self-sustainable?
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19 Explain the processes of aerobic respiration in mitochondria of a cell and anaerobic 3
respiration in yeast and muscle with the help of word equations.

20 In a pea plant, the trait of flowers bearing purple colour (PP) is dominant over white 3
colour (pp). Explain the inheritance pattern of F1 and F2 generations with the help of a
cross following the rules of inheritance of traits. State the visible characters of Fland F2
progenies.

21 Explain giving reasons the bending of the shoot tip of a plant towards light source coming 3
from one side of the plant.

22 It is desired to obtain an erect image of an object, using concave mirror of focal length of 3
12 cm.

(i) What should be the range of the object distance in the above case?

(i) Will the image be smaller or larger than the object? Draw a ray diagram to show the
formation of image in this case.

(iii)) Where will the image of this object be, if it is placed 24 cm in front of the mirror?

23 Suppose your parents have constructed a two room house and you want that in the living 3
room there should be a provision of one electric bulb, one electric fan, a refrigerator and a
plug point for appliances of power up to 2 kilowatt. Draw a circuit diagram showing
electric fuse and earthing as safety devices.

24 In the figure given below, a narrow beam of white light is shown to pass through a 3
triangular glass prism. After passing through the prism, it produces a spectrum XY on the
screen.

(i) Name the phenomenon.

(i1) State the colours seen at X and Y.

(i11))Why do different colours of white light bend at different angles through a prism?
OR

(1) What is visible spectrum?

(i) Why is red used as the stopping light at traffic signals?

(iii)Two triangular glass prisms are kept together connected through their rectangular
side. A light beam is passed through one side of the combination. Will there be any
dispersion? Justify your answer.

SECTION C

25 Metal X is found in nature as its sulphide XS. It is used in the galvanisation of iron 5
articles. Identify the metal X. How will you convert this sulphide ore into the metal?
Explain with equations.
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OR
State the reason for the following:
@A) Aluminium oxide is called an amphoteric oxide.
(i1) An iron strip dipped in a blue copper sulphate solution turns the blue

solution pale green.
(iii) Hydrogen gas is not evolved when most metals react with nitric acid.

(iv) Calcium does not occur in free state in nature.

(v) Sodium or potassium metals are kept immersed under kerosene.
26 The formulae of four organic compounds are given below:
A B C D 5

C,Hy CH;COOH  C,HsOH C,Hg

(1) Which one of these compounds A, B, C or D is a saturated hydrocarbon?
(i1) Identify the organic acid and give its structural formula.

(iii)) Which of the above compounds when heated at 443K in the presence of
concentrated H,SO,4 forms ethene as the major product? What is the role played by
concentrated H,SOy, in this reaction? Also write the chemical equation involved.

(iv) Give a chemical equation when B and C react with each other in presence of
concentrated H,SO4 Name the major product formed and mention one of its
important use.

27
5
(i) Identify any two parts from the above diagram which carry oxygenated and
deoxygenated blood.
(i1) Explain the process of double circulation with the help of a flow chart.
28 (i) Describe the various steps involved in the process of binary fission with the help 5

of a diagram.

(i1)) Why do multicellular organisms use complex way of reproduction?
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OR

(i) Describe the role of prostate gland, seminal vesicle and testes in the human male
reproductive system.

(i1) How is the surgical removal of unwanted pregnancies misused?

(i) Explain the role of oral contraceptive pills in preventing conception.

29 (i) Consider a conductor of resistance ‘R’, length ‘L’, thickness‘d’ and resistivity ‘p’. 5
Now this conductor is cut into four equal parts. What will be the new resistivity of
each of these parts? Why?

(i1) Find the resistance if all of these parts are connected in:
(a) Parallel
(b) Series

(ii1) Out of the combinations of resistors mentioned above in the previous part, for a
given voltage which combination will consume more power and why?

30 (i) A lens produces a magnification of -0.5. Is this a converging or diverging lens? If 5
the focal length of the lens is 6 cm, draw a ray diagram showing the image formation
in this case.

(i) A girl was playing with a thin beam of light from a laser torch by directing it
from different directions on a convex lens held vertically. She was surprised to see
that in a particular direction, the beam of light continues to move along the same
direction after passing through the lens. State the reason for her observation. Draw a
ray diagram to support your answer.

OR

(i) On entering in a medium from air, the speed of light becomes half of its value in
air. Find the refractive index of that medium with respect to air?

(i1) A glass slab made of a material of refractive index n; is kept in a medium of
refractive index n,.

A light ray is incident on the slab. Draw the path of the rays of light emerging from
the glass slab, if (i) n;> n, (i1) n; = n, (iii) n;< n,

sk ok 3k sk o ok sk o ok sk s ok sk skosk skeskok ks






SOCIAL SCIENCE (CODE 087)
CLASS X - SESSION 2019-20
MARKING SCHEME

S. VALUE POINTS M
No.

SECTION - A

1 Match the following items given in column A with those in column B. Choose the correct 1
answer from the options given below:

COLUMN A COLUMN B

A. Rashsundari Debi 1. Chhote Aur Bade Ka
Sawal

B. Sudarshan Chakr 2. Kesari

C. Kashibaba 3. Amar Jiban

D. Bal Gangadhar Tilak 4. Sacchi Kavitayen

A-3, B4, C-1,D-2
History — Print Culture, page-126

2 Identify the appropriate reason for the formation of the party from the options given below: 1
A. Wanted members of Congress to return to Council Politics
B. Wanted members of Congress to ask for Poorna Swaraj for Indians
C. Wanted members of Congress to ask Dominion State for India
D. Wanted members of Congress to oppose Simon Commission
A. Wanted members of Congress to return to Council Politics
History, Chapter- 2; The nationalism in India -Pg No-38

3 Study the picture and answer the question that follows 1

Which of the following aspect best signifies this image of ‘Germania’?
A. Heroism and Justice



B. Folk and Cultural Tradition
C. Austerity and Asceticism
D. Revenge and Vengeance
A. Heroism and Justice
History — Nationalism in Europe, Page -23
Note: This question is in lieu of Q3 for Visually Impaired Candidates.
Q-3- What does the crown on allegory of ‘Germania’ signify?

Heroism

History — Nationalism in Europe, Page-9

Who was called as the architect of Germany’s unification?

Otto Von Bismarck
History Pg-19 The Rise of Nationalism in Europe

Which one of the following is an example of Cultivable Wasteland?
A. Gross cropped Area
B. Uncultivable Land
C. Barren Wasteland
D. Current fallow Land
B-Uncultivable Land

Contemporary India-II
Chapter- 1; Resources and Development,pg-5

Complete the following table with correct information with regard to the cultivation of rice:

Rice Annual rain fall Cropping season Temperature
required required for its
growth (in degrees)
100 cm (A)-? B)-?
(A) Kharif Cropping Season (B) 16°C - 27°C

Contemporary India-II
Chapter-3; Agriculture pg-32

Being a tropical country, India has enormous possibilities of tapping solar energy. Suggest any
one way to popularize its maximum use.
OR

A concerted effort has to be made for sustainable development. Suggest any one step in
conserving our mineral resources for the future.
Making people aware about renewable energy resources/use of rooftop solar panels/solar
street lighting system/any other relevant point

Contemporary India-II
Chapter- 5; Minerals and Energy Resources,pg-62



OR
Improved technologies/ Recycling of metals/ Using scrap metals and other substitutes /
Any other relevant point
Contemporary India-II
Chapter- 5; Minerals and Energy Resources,pg-58

Correct the following statement and rewrite:

In Srilanka, an Act was passed in 1956 to recognise Tamil as the only official language,
disregarding Sinhala.
Or
Correct the following statement and rewrite:
Belgium is a small country in Europe and share borders with France, Italy, Germany and
Luxembourg
In Srilanka, an Act was passed in 1956 to recognise Sinhala as the only official language,
disregardingTamil.
Democratic Politics-I1
Chapter- 1; Power Sharing .Pg3

Or

Belgium is a small country in Europe and share borders with France, the Netherlands,
Germany and Luxembourg.
Democratic Politics-1I

Chapter- 1; Power Sharing .Pg2

) RK Laxman - Brushing up the years

. Which of the following option best signifies this cartoon?
A. Demand for separate state from Democratic Government
B. Democratic Government is facing territorial issues with the bordering states
C. Democratic Government is coping with multiple pressures through accommodation
D. Democratic Government accepts demands based on separate state
Democratic Government is coping with multiple pressures through accommodation

Note: This question is in lieu of Q9 for visually impaired candidates
Q9. Give any one example of Social Democracy.
Dignity of individual (gender, caste, religion)/ any other relevant point



10

11

12

13

Democratic Politics-I1
Chapter- 7; Outcomes of Democracy / Pg. No. 98

The representation of women in Indian Parliament is still low as compared to European
countries because

OR
The Constitution of India provides to all individuals and communities freedom to profess,
practice and propagate any religion because

Lack of legally imposed quotas or reservation policy at central level / Any other relevant
point
Democratic Politics-I1
Chapter- 4; Gender, Caste and Religion pg-44
OR

India is a secular country/ any other relevant answer
Democratic Politics-I1

Chapter- 4; Gender, Caste and Religion pg-47

Who presides over the meeting of the Municipal Corporation?
OR
Which government has the power to legislate on ‘Residuary’ subjects in India?
The Mayor/Municipal Commissioner/Alderman
Democratic Politics-II,Chapter- 2 Federalismpg-25
OR
Union Government
Democratic Politics-1I, Chapter- 2 Federalismpg-17

Mention the formula to calculate the BMI ( Body Mass Index)

BMI- (BODY MASS INDEX)

Weight of person in kg and height in metres is taken. Divide the weight by the square of
the height.

Economics, Ch-1 Development, Page — 13

Which of the following statement defines Sustainable Development?

A. Sustainable use of natural resources without considering the need of the future
generation.

B. Present generation fulfils its needs while considering the needs of the future generation
as well.

C. It means utilization of natural resources by the past, present and forthcoming future
generation.

D. To meets the needs of the future generations even if the needs of the present generation
£0 unmet



B. Present generation fulfils its needs while considering the needs of the future
generation as well.
Economics, Ch- Development, Page — 13

One of the best ways to reduce over usage of ground water is o1

Implementation of stringent policies to control misuse of water
(Or Any other valid point)
Economics Ch- Development, Page — 14

Which of the following profession belongs to the Tertiary Sector of economy? 1

A. Fisherman

B. Farmer
C. Factory worker
D. Teacher
D- Teacher
Economics, Ch- Sectors of Economy, Page - 20
The number of deaths of children less than one year of age per 1000 live births is referred as 1

OR
The total number of children of age group 14 and 15 years attending school as a percentage of
total number of children in the same age group is referred as
Infant mortality rate (IMR)

OR
Net Attendance Ratio

Economics Ch- Development, Page — 14

Find the Incorrect option 1

A. Demand deposit share the essential features of money
B. With demand deposit payments can be made without cash
C. Demand deposits are safe way of money transformation
D. Demand deposit facility is like cheque
D Demand deposit facility is like cheque

Economics, Ch- money and credit Pg-41

Arrange the following in the correct sequence — 1

i.  Transporting cloth to the workshops
ii.  Sale in shops and showrooms
iii.  Spinning the yarn
iv.  Weaving of the fabric

Options —



19

20

21

i ~iv—i—ii
iv—i--ii-iii
fii—iv--ii--i
B iii —iv—i-ii

Cawp

Economics, Ch- Sectors of Economy, Page - 20

In the question given below, there are two statements marked as Assertion (A) and Reason 1
(R). Read the statements and chose the correct option:

Assertion (A): Not every good or service that is produced and sold needs to be counted to
know the total production in each sector.
Reason (R): The value of final goods already includes the value of all the intermediate goods.

Options:
a. Both A and R are true and R is the correct explanation of A.
b. Both A and R are true but R is not the correct explanation of A.
c. Ais correct but R is wrong.
d. A is wrong but R is correct.
a. Both A and R are true and R is the correct explanation of A.

Economics, Ch- Sectors of Economy, Page — 22

Rita has taken a loan of Rs.7 lakhs from the bank to purchase a car. The annual interest rate on 1
the loan is 14.5 per cent and the loan is to be repaid in 3 years in monthly instalments.
The bank retained the papers of the new car as collateral, which will be returned to Rita
only when she repays the entire loan with interest.

Analyse the loan information given above, considering one of the following correct option.
A. Mode of re-payment
B. Terms of credit
C. Interest on loan
D. Deposit criteria
B Terms of Credit Economics, Ch — Money and Credit, Page — 45

SECTION - B SHORT ANS. QUESTIONS

Describe the famous incidence of Jallianwala Bagh. 3
OR
Describe the role of Alluri Sitaram Raju in Andhra Pradesh during 1920s.

Jallianwalla Bagh incident.
1. On 13 April, Jallianwalla Bagh incident took place.

ii. On that day a crowd of villagers who had come to Amritsar to attend a fair gathered in
the enclosed ground of Jallianwalla Bagh.

iii. Being from outside the city, they were unaware of the martial law that had been
imposed.

iv. Dyer entered the area, blocked the exit points, and opened fire on the crowd, killing
hundreds.



To be assessed as whole
History, Nationalism in India — Page — 31

OR

Role of Alluri Sitaram Raju in the Gudem hills of Andhra Pradesh

Alluri Sitaram Raju claimed that he had a variety of special powers like making

1.
ii.
iii.
1v.

V1.

astrological predictions, healing people and surviving bullet shots
The rebels proclaimed him as an incarnation of God.
Raju was inspired by Gandhiji’s Non-Cooperation Movement
Persuaded people to wear khadi and give up drinking.
But at the same time he asserted that India could be liberated only by the use of force,
not non-violence.
Used guerrilla warfare for achieving swaraj.
To be assessed as whole
History, Nationalism in India — Page PG-36

22 Why did European flee to America in nineteenth century? Explain.

OR

Why did merchants moved to the countryside Europe during the seventeenth and eighteenth
centuries? Explain.
European flee to America in 19th century

i.Poverty and hunger were common in Europe.
i1.Cities were crowded and deadly diseases were widespread.

iii.Religious conflicts were common and religious dissenters were persecuted.
iv.Plantations were worked on by slaves.
Any other relevant point

Any three points to be explained
History Lesson-4 The Making Of The Global World,pg-56
OR

Merchants moved to the countryside Europe

1.
ii.

ii.
1v.

Expansion of world trade and the acquisition ofcolonies.

Powerful urban craft and trade guildsdid not allow expansion of production in towns.
Producers regulated production, competition, prices.

Rulers also granted different guilds the monopoly right to produce and trade in specific
products.

It was therefore difficult for new merchants to set up business in towns. So they turned
to the countryside.

Any three points to be explained

India and Contemporary World-II

Chapter-5; The Age of Industrialization page-81

23 Read the sources given below and answer the questions that follows-



Source A-Religious Debates and the Fear of Print

Print created the possibility of wide circulation of ideas, and introduced a new world of
debate and discussion. Even those who disagreed with established authorities could now print
and circulate their ideas. Through the printed message, they could persuade people to think
differently, and move them to action. This had significance in different spheres of life.

Source B-The Reading Mania

The ideas of scientists and philosophers now became more accessible to the common people.
Ancient and medieval scientific texts were compiled and published, and maps and scientific
diagrams were widely printed. When scientists like Isaac Newton began to publish their
discoveries, they could influence a much wider circle of scientifically minded readers. The
writings of thinkers such as Thomas Paine, Voltaire and Jean Jacques Rousseau were also
widely printed and read. Thus their ideas about science, reason and rationality found their
way into popular literature.

Source C --- Print Culture and the French Revolution

Print popularised the ideas of the Enlightenment thinkers. Collectively, their writings
provided a critical commentary on tradition, superstition and despotism. They argued for the
rule of reason rather than custom, and demanded that everything be judged through the
application of reason and rationality. They attacked the sacred authority of the Church and
the despotic power of the state, thus eroding the legitimacy of a social order based on
tradition. The writings of Voltaire and Rousseau were read widely, and those who read these
books saw the world through new eyes, eyes that were questioning, critical and rational.
Source A-Religious Debates and the Fear of Print

23.1 Evaluate the effectiveness of Print in the transmission of ideas and cultures. 1

Print introduced a new world of debate and discussionwhich led to the beginning of the
Protestant Reformation with the contribution of Martin Luther.

Source B-The Reading Mania

23.2 To what extent do you agree that scientific ideas were circulated through Print.
Give only one aspect. 1

Newspapers, journals, chapbooks and other medium popularised thescientific ideas of scientist
and philosopherslike Isaac Newton,Thomas Paine, Voltaire and Jean Jacques Rousseau.

Source C --- Print Culture and the French Revolution

23.3To what extent did print culture create conditions for French Revolution ? Cite any
one evidence to support your answer. 1



i. Print popularised the ideas of the Enlightenment thinkers.
ii. All values, norms and institutions were re-evaluated and discussed.
iii. It led to the growth of hostile sentiments against the French monarchy.
iv. Any other relevant point
Any one point to be explained
History lesson-7 the print culture, pg-112-116

24 “Energy saved is energy produced”. Support the statement with suitable examples.
OR

“India has fairly rich and varied mineral resources across different regions”. Support the
statement with examples.
“Energy saved is energy produced”.

i. Promotion of energy conservation and increased use of renewable energy sources arethe
twin planks of sustainable energy.
ii. India is presently one of the least energy efficient countries in the world.
iii. We have to adopt a cautious approach for the judicious use of our limited
energyresources.
iv. Using public transport systems instead of individual vehicles.
v. Switching off electricity when not in use.
vi. Using power-saving devices and using non-conventional sources of energy.
Any other relevant point
pg-63
CH-5 Minerals Geography
OR

“India has fairly rich and varied mineral resources across different regions”.

1. Peninsular rocks contain most of the reserves of coal, metallic minerals, mica and many
other non-metallic minerals.
ii. Sedimentary rocks on the western and eastern flanks of the peninsula, in Gujarat and
Assam have most of the petroleum deposits.
iii. Rajasthan with the rock systems of the peninsula, has reserves of many non-ferrous
minerals. The vast alluvial plains of North India are almost devoid of economic minerals.
Any three points to be explained
Contemporary India-II
Chapter- 5; Mineral and Energy Resources page-52

25 Describe any three features of Indian Federalism.

i. Indian federalism is a threefold distribution based on three lists:
I Union List on which centre make laws such as defence, currency, etc.
IT State List on which state make laws such as police, trade, agriculture, etc.
IIT Concurrent List on which both Centre and State Legislates such as education,
marriage, etc.



il.
1il.

Centre legislate on ‘residuary’ subjects
High Courts and the Supreme Court sorts out the dispute between centre and state.

iv. Any other relevant point

Democratic Politics-1I
Chapter-2 federalism, page-16-17

26 Describe the role of Political Parties in India.
Role of Political Parties

.
il.
1ii.
1v.
V.
VI.
Vii.

Parties contest election

Parties put forward different policies and programmes

Parties form and run the govt.

Parties that lose in the election play the role of opposition

Parties shape public opinion

Parties provide people access to govt. Machinery and welfare schemes.
Any other relevant point

Any three points to be explained

Democratic Politics-11

Chapter-6 political parties, page-73

27 Why do we need to expand formal sources of credit in India? Explain.

OR

Why do banks and cooperative societies need to lend more? Explain.
Expand formal sources

1.
il.
iii.
iv.
V.

To save people from the exploitation of Informal sector
Formal charge a low interest on loans.
To save from debt trap.
It provides cheap and affordable credit.
RBI also supervises the formal sector credit through various rules and regulations
which ensures that banks give loans to small cultivators, small borrowers, etc. and not
just to profit making business and traders.
Any three points to be explained
Economics — Money and Credit, Page — 33

OR

Banks and cooperative societies need to lend more.

1.
ii.
1ii.
1v.
V.
Vi.

This would lead to higher incomes

People could borrow cheaply for a variety of needs.

They could grow cropsand set up small-scale industries etc.

Cheap and affordable credit is crucial for the country’s development

To save and reduce the dependence on informal sources of credit

It is important that the formal credit is distributed more equally so that the poor can
benefit from the cheaper loans.

Any three points to be explained

Economics — Money and Credit, Page — 31
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29

1.

Underemployment continues to be rampant in the rural areas. Suggest three ways through
which employment for such people can be generated.

Employment generation
1. People can be employed in projects like construction of dam/canal/ roads in the village.
ii.Government invests and employ people in providing transportation and storage services.
iii. People can be employed in services like banking, trade, etc.
iv.Government can identify, promote industries and services in semi-rural areas to enhance
employment.
v. Government can open centres to give them training and financial assistance to help them
become self — employed
vi. Any other relevant point
Any three points to be explained

Economics — Sectors of Indian Economy, Page — 28

SECTION - C LONG ANS. QUESTIONS

Highlight the reasons for the growth of nationalist tensions in the Balkan region before the
First World War.

OR
Why did the period of 1848 consider as phase of the Revolution of the Liberals in Europe?
Explain.

The Balkans
i.  The Balkan was a region of geographical and ethnic variations comprising of modern-
day Romania, Bulgaria, Albania, Greece, Macedonia, Croatia, Bosnia-Herzegovina
Slovenia, Serbia and Montenegro. The inhabitants were called Slavs
ii.  The spread of romantic nationalism lead to its disintegration.
iii.  Different Slavic nationalities struggled to define their identity
iv.  Balkan region became a region of intense conflict over expansion of territory.

v. At the same time, the great European Powers --Russia, Germany, England and Austro-
Hungary were keen on taking the control of the Balkan region, since it was important
from trade point of view.

vi.  This led to the series of wars in the region and finally became the cause of the First
World War.
India and Contemporary World-II
Chapter-1; The Rise of Nationalism in Europepage-26

OR

The period of 1848 consider as phase of the Revolution of the Liberals in Europe
i.  Events of February 1848 in France had brought about the abdication of the monarch
and a republic based on universal male suffrage had been proclaimed.
ii.  Germany, Italy, Poland, the Austro-Hungarian Empire — men and women of the liberal
middle classes combined their demands for constitutionalism with national unification.
iii.  They took advantage of the growing popular unrest to push their demands for the
creation of a nation-state on parliamentary principles — a constitution, freedom of the
press and freedom of association.
iv.  In the German regions a large number of political associations whose members were

3
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middle-class professionals, businessmen and prosperous artisans came together in the
city of Frankfurt and decided to vote for an all-German National Assembly.

v.  The middle classes who resisted the demands of workers and artisans and consequently
lost their support. In the end troops were called in and the assembly was forced to
disband.

vi.  The issue of extending political rights to women was a controversial one within the
liberal movement, in which large numbers of women had participated actively over the
years.

vii.  Women had formed their own political associations, founded newspapers and taken
part in political meetings and demonstration.

Any five points to be explained
India and Contemporary World-II
Chapter-1; The Rise of Nationalism in Europe, Pages — 13

Read the extract and answer the questions that follows:

Today, the world has been converted into a large village with the help of efficient and fast
moving transport. Transport has been able to achieve this with the help of equally developed
communication system. Therefore, transport, communication and trade are complementary to
each other.

Today, India is well-linked with the rest of the world despite its vast size, diversity and
linguistic and socio-cultural plurality. Railways, airways, waterways, newspapers, radio,
television, cinema and internet, etc. have been contributing to its socio-economic progress in
many ways.

The trades from local to international levels have added to the vitality of its economy. It has
enriched our life and added substantially to growing amenities and facilities for the comforts
of life. It is thus, evident that a dense and efficient network of transport and communication is
a prerequisite for local, national and global trade of today.

30.1-Why is there a need to interlink with the world?

30.2-Infer the importance of means of transportation and communication for socio- economic
progress?

30.3- How does trade strengthen the economy of a country?

30.1-Why is there a need to interlink with the world? 1
For development, advancement and globalization

30.2- Infer the importance of means of transportation and communication for socio-
economic progress?

i.  They are the very basis of industries and trade of country.

ii. Create job employment opportunities

iii. Help to grow economy

iv. Transport maintains the movement of persons and products from one region to another
region of the country.

v. For sending and receiving messages

vi. Interlinking world

vii. Increases awareness among the people at national level.

N+ N —



viii. Help in defending the independence and the national unity of a country
ix. Any other relevant point
Any two points to be explained

30.3- How does trade strengthen the economy of a country?
1. Trade between nation and countries are the index to its economic prosperity
ii. It generates employment
iii. It Helps in earning foreign exchange
(Any twopoints to be explained)

Contemporary India-II
Chapter- 7; Life Lines of National Economy, pg-81

31 ‘The challenge of sustainable development requires control over industrial 5
pollution.” Substantiate the statement with examples.

1. On one hand Industries lead to extensive industrial growth and expansion, other hand
these are also the cause of environmental degeneration which prompt to the different
type of air, water pollution.

ii. There is an increasing requirement to use a further sustainable model.

iii. Industries must produce eco-friendly products and dump wastes responsibly.

iv. Use of latest technology can help industries to control pollution and lead towards
sustainable mode of operation.

v. Industries use- Reuse-Recycle-Refuse approach.

vi. If necessary, dump waste in specified places, away from the land and water sources, for
example- before dumping treat well and make useful forother than drinking
purpose,stop using thermal plants in some of the locations.

Any five points to be explained

Contemporary India-II
Chapter- 6; Manufacturing Industries,page-78
32 Explain with examples the accommodative experience of Belgium for peace and harmony.

The accommodative experience of Belgium for peace and harmony
i. The Path of accommodation adopted in Belgium —
ii. Dutch and French speaking ministers got equal in the central govt.
iii. Many Powers of the central government have been given to state government
iv. The state Government was not subordinate to the Central Govt.
v. Brussels has a separate Govt. in which both the communities have equal representation.
vi. There is a third kind of Govt. called community Govt. elected by the people belonging to
Dutch, French and German no matter where they live.
Any five points to be explained
Democratic Politics-1I
Chapter- 1 Power Sharing , Pg-5

33 ‘Democracy is based on the idea of deliberation and negotiation’.Examine the statement. 5

OR



‘Respect and equal treatment of women are necessary ingredients of a democratic society’.
Examine the statement.
Democracy is based on the idea of deliberation and negotiation

i. Democracy gives importance to deliberation and public opinion.
ii. The democratic government will take more time to follow procedures before arriving
at a decision.
iii. Its decisions may be both more acceptable to the people and more effective.
iv. Democracy ensures that decision making will be based on norms and procedures.
v. Transparency as Persons have the right and the means to examine the process of
decision making.
vi. It follows procedures and is accountable to the people.
vii. The democratic government develops mechanisms for citizens to hold the government
accountable
viii. Democratic govt. follows mechanisms for citizens to take part in decision making
whenever they think fit.
ix. Any other relevant point
Any five points to be explained
Democratic Politics-I1
Chapter- 7; Outcomes of Democracy pg-91
OR
Respect and Equal treatment of women are necessary ingredients of a democratic
society.
i.  Economic independence or access to an inherited or self-generated income is
considered to be the major means of empowering women.
ii. Equal political and civil rights as men
iii. Ways of autonomy and freedom.
iv. Distributive justice to reduce inequalities in resources and power.
v. Love, universal brotherhood, sincerity, honesty and integrity of character, firm attitude
of rendering help
vi. Removing social evils including violence, torture, humiliation etc.
vii. Any other relevant point
Any five points to be explained
PG-98 Democratic Politics-II Chapter- 7; Outcomes of Democracy

34 Describe the role of technology in promoting globalisation process.

Technology
Rapid improvement in technology has stimulated the globalisation process.

i.  This has made much faster delivery of goods across long distances possible at
lower costs.

ii. Even more remarkable have been the developments in information and
communication technology.

iii. Technology in the areas of telecommunications, computers, Internet has been
changing rapidly.

iv. Telecommunication facilities (telegraph, telephone including mobile phones, fax)
are used to contact one another around the world, to access information instantly,
and to communicate from remote areas.



v. This has been facilitated by satellite communication devices.
vi. Any other relevant point
Any five points to be explained

Understanding Economic Development
Chapter-4; Globalization and Indian Economypg-62
MAP SKILL BASED QUESTION

35 (a) Two places A and B have been marked on the given outline map of India.
Identify them and write their correct names on the lines drawn near them

A)  The place where Indian National Congress session was held in December 1920.
B)  The place where Salt Law was broken by Mahatma Gandhi.

b) On the same outline map of India locate and label any four of the following with suitable
Symbols.
1. Paradwip- Major Sea port

ii.  Noida- Software Technology Park

iii.  Salem- Iron and Steel industry

iv.  Kalpakkam- Nuclear Power Plant

v.  Bhakra Nangal- Dam

vi.  Chattrapati Shivaji International Airport

A & B -ON THE FILLED MAP ATTACHED

The following questions are for the Visually Impaired candidates only in lieuof Q. No. 35.
ANY SIX to be attempted: 1X6 =6

1. The state where Indigo planters organized Satyagraha.-CHAMPARAN

ii. The Place where Non- Cooperation Movement ended abruptly due to violence.-
CHAURI CHAURA (UTTAR PRADESH)

iii. The state where Jallianwala Bagh incidence took place. - PUNJAB

iv. The state where Chhatrapati Shivaji Airport is located.- MAHARASHTRA

v. The state where Salem Iron and Steel Plant is located.-TAMIL NADU

vi. Name the state where Kalpakkam Nuclear Power Plant is located.-KARNATAKA

vii. Name the Software Technology Park in Uttar Pradesh- NOIDA

viii. Name the state where Haldia Seaport is located- KOLKATA
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SOCIAL SCIENCE (CODE 087)
CLASS X — SESSION 2019-20
SAMPLE QUESTION PAPER

Time Allowed: 3 Hours Maximum Marks: 80

General Instructions:

i. The question paper has 35 questions in all.

il. Marks are indicated against each question.

iii. Questions from serial number 1 to 20 are objective type questions. Each question carries
one mark. Answer them as instructed.

iv. Questions from serial number 21 to 28 are3 marks questions. Answer of these questions
should not exceed 80 words each.

v. Questions from serial number 29 to 34 are 5 marks questions. Answer of these questions
should not exceed 120 words each.

vi. Question number 35 is a map question of 6 marks with two parts - 35 a. from History (2
marks) and 35b. from Geography (4 marks).

SECTION — A VERY SHORT ANS. QUESTIONS

Match the following items given in column A with those in column B. Choose the correct
answer from the options given below:

COLUMN A COLUMN B
A. Rashsundari Debi 1. Chhote Aur Bade Ka Sawal
B. Sudarshan Chakr 2. Kesari
C. Kashibaba 3. Amar Jiban
D. Bal Gangadhar Tilak 4. Sacchi Kavitayen

Identify the appropriate reason for the formation of the Swaraj party from the options given
below:

Wanted members of Congress to return to Council Politics

Wanted members of Congress to ask for Poorna Swaraj for Indians

Wanted members of Congress to ask Dominion State for India

Wanted members of Congress to oppose Simon Commission

Cnowp

Study the picture and answer the question that follows

1



Which of the following aspect best signifies this image of ‘Germania’?
Heroism and Justice

Folk and Cultural Tradition

Austerity and Asceticism

Revenge and Vengeance

onwp

Note: This question is in lieu of Q3 for Visually Impaired Candidates only
Q-3 What does the crown on allegory of ‘Germania’ signify?

Who was called as the architect of Germany’s unification?

Which one of the following is an example of Cultivable Wasteland?
A. Gross cropped Area
B. Uncultivable Land
C. Barren Wasteland
D. Current fallow Land

Complete the following table with correct information with regard to cultivation of Rice:

Rice Annual rain fall Cropping season Temperature
required required for its
growth (in degrees)
100 cm (A)-? B)-?

Being a tropical country, India has enormous possibilities of tapping solar energy. Suggest any
one way to popularize its maximum use.

OR
A concerted effort has to be made for sustainable development.Suggest any one step in
conserving our mineral resources for the future.

Correct the following statement and rewrite:

In Srilanka, an Act was passed in 1956 to recognise Tamil as the only official language,
disregarding Sinhala.
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11

12

OR

Correct the following statement and rewrite:

Belgium is a small country in Europe and share borders with France, Italy, Germany and
Luxembourg.

) RK Laxman - Brushing up the years

Which one of the following option best signifies this cartoon?

Demand for separate state from Democratic Government

Democratic Government is facing territorial issues with the bordering states
Democratic Government is coping with multiple pressures through accommodation
Democratic Government accepts demands based on separate state

onwp

Note: This question is in lieu of Q9 for visually impaired candidates
Q9. Give any one example of Social Democracy.

The representation of women in Indian Parliament is still low as compared to European
countries because

OR
The Constitution of India provides to all individuals and communities freedom to profess,
practice and propagate any religion because

Who presides over the meeting of the Municipal Corporation?
OR
Which government has the power to legislate on ‘Residuary’ subjects in India?

Mention the formula to calculate the BMI (Body Mass Index).

1



13 Which of the following statement defines Sustainable Development?

A. Sustainable use of natural resources without considering the need of the future
generation.

B. Present generation fulfils its needs while considering the needs of the future generation
as well.

C. It means utilization of natural resources by the past, present and forthcoming future
generation.

D. To meets the needs of the future generations even if the needs of the present generation
go unmet.

14 One of the best ways to reduce over usage of ground water is

15 Which of the following profession belongs to the Tertiary Sector of economy?

Fisherman
Farmer
Factory worker
Teacher

Cawp

16 The number of deaths of children less than one year of age per 1000 live births is referred as

OR
The total number of children of age group 14 and 15 years attending school as a percentage of

total number of children in the same age group is referred as

17 Find the Incorrect option

Demand deposit share the essential features of money

With demand deposit payments can be made without cash
Demand deposits are safe way of money transformation
Demand deposit facility is like cheque

CSaw>

18 Arrange the following in the correct sequence —

i.  Transporting cloth to the workshops
ii.  Sale in shops and showrooms
iii.  Spinning the yarn
iv.  Weaving of the fabric

Options —

1--1v--iii--ii
11l —1v—i--ii
1v—i--ii--iii
Hi—iv--ii--1

Sawp
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20

21
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23

In the question given below, there are two statements marked as Assertion (A) and Reason 1
(R). Read the statements and chose the correct option:

Assertion (A): Not every good or service that is produced and sold needs to be counted to
know the total production in each sector.
Reason (R): The value of final goods already includes the value of all the intermediate goods.

Options:
a. Both A and R are true and R is the correct explanation of A.
b. Both A and R are true but R is not the correct explanation of A.
c. A s correct but R is wrong.
d. A is wrong but R is correct.

Rita has taken a loan of Rs. 7 lakhs from the bank to purchase a car. The annual interest rate on 1
the loan is 14.5 per cent and the loan is to be repaid in 3 years in monthly instalments.
The bank retained the papers of the new car as collateral, which will be returned to Rita
only when she repays the entire loan with interest.

Analyse the loan information given above, considering one of the following correct option.
a. Mode of re-payment
b. Terms of credit
c. Interest on loan
d. Deposit criteria

SECTION - B SHORT ANSWER QUESTIONS

Describe the incidence of Jallianwala Bagh Massacre. 3

OR
Describe the role of Alluri Sitaram Raju in Andhra Pradesh during 1920s.

Why did Europeans flee to America in nineteenth century? Explain. 3

OR

Why did merchants moved to the countryside Europe during the seventeenth and eighteenth
centuries? Explain.

Read the sources given below and answer the questions that follows-

Print created the possibility of wide circulation of ideas, and introduced a new world of debate

1
+
Source A-Religious Debates and the Fear of Print 1
+
1
and discussion. Even those who disagreed with established authorities could now print and _
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circulate their ideas. Through the printed message, they could persuade people to think 3
differently, and move them to action. This had significance in different spheres of life.

Source B-The Reading Mania

The ideas of scientists and philosophers now became more accessible to the common people.
Ancient and medieval scientific texts were compiled and published, and maps and scientific
diagrams were widely printed. When scientists like Isaac Newton began to publish their
discoveries, they could influence a much wider circle of scientifically minded readers. The
writings of thinkers such as Thomas Paine, Voltaire and Jean Jacques Rousseau were also
widely printed and read. Thus their ideas about science, reason and rationality found their
way into popular literature.

Source C --—- Print Culture and the French Revolution

Print popularised the ideas of the Enlightenment thinkers. Collectively, their writings provided
a critical commentary on tradition, superstition and despotism. They argued for the rule of
reason rather than custom, and demanded that everything be judged through the application of
reason and rationality. They attacked the sacred authority of the Church and the despotic
power of the state, thus eroding the legitimacy of a social order based on tradition. The
writings of Voltaire and Rousseau were read widely; and those who read these books saw the
world through new eyes, eyes that were questioning, critical and rational.

Source A-Religious Debates and the Fear of Print

23.1 Evaluate the effectiveness of Print in the transmission of ideas and cultures. 1

Source B-The Reading Mania

23.2 To what extent do you agree that scientific ideas were circulated through Print.? Give
only one aspect. 1

Source C --- Print Culture and the French Revolution

23.3To what extent did print culture create conditions for French Revolution ?. Cite any one
evidence to support your answer. 1

“Energy saved is energy produced”. Support the statement with suitable examples. 3
OR

“India has fairly rich and varied mineral resources across different regions”. Support the
statement with examples.

Describe any three features of Indian Federalism. 3

Describe the role of Political Parties in India. 3

Why do we need to expand formal sources of credit in India? Explain. 3
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OR
Why do banks and cooperative societies need to lend more? Explain.

Underemployment continues to be rampant in the rural areas. Suggest any three ways through
which employment for rural people can be generated.

SECTION - C LONG ANS. QUESTIONS

Highlight the reasons for the growth of nationalist tensions in the Balkan region before the
First World War.
OR

Why was the period of 1848 considered as phase of the revolution of the Liberals in Europe?
Explain.

Read the extract and answer the questions that follows:

Today, the world has been converted into a large village with the help of efficient and fast
moving transport. Transport has been able to achieve this with the help of equally developed
communication system. Therefore, transport, communication and trade are complementary to
each other.

Today, India is well-linked with the rest of the world despite its vast size, diversity and
linguistic and socio-cultural plurality. Railways, airways, waterways, newspapers, radio,
television, cinema and internet, etc. have been contributing to its socio-economic progress in
many ways.

The trades from local to international levels have added to the vitality of its economy. It has
enriched our life and added substantially to growing amenities and facilities for the comforts
of life. It is thus, evident that a dense and efficient network of transport and communication is
a prerequisite for local, national and global trade of today.

30.1-Why is there a need to interlink with the world?

30.2-Infer the importance of means of transportation and communication for socio- economic
progress?

30.3- How does trade strengthen the economy of a country?
‘The challenge of sustainable development requires control over industrial
pollution.” Substantiate the statement with examples.
Explain with examples the accommodative experience of Belgium for peace and harmony.
‘Democracy is based on the idea of deliberation and negotiation’.Examine the statement.

OR

‘Respect and equal treatment of women are necessary ingredients of a democratic society’.

DN+ N+ =



Examine the statement.
34 Describe the role of technology in promoting globalisation process.
MAP SKILL BASED QUESTION

35 (a) Two places A and B have been marked on the given outline map of India.
Identify them and write their correct names on the lines drawn near them

A)  The place where Indian National Congress session was held in December 1920
B)  The place where Salt Law was broken by Mahatma Gandhi

b) On the same outline map of India locate and label any four of the following with suitable
Symbols.
1. Paradwip- Major Sea Port
ii.  Noida- Software Technology Park
iii.  Salem- Iron and Steel industry
iv.  Kalpakkam- Nuclear Power Plant
v.  Bhakra Nangal- Dam

vi.  Chattrapati Shivaji International Airport

Note: The following questions are for the Visually Impaired candidates only in lieuof Q. No.

35. ANY SIX to be attempted: 1X6 =6

i.  Name the state where Indigo planters organized Satyagraha.

ii. Name the place where Non- Cooperation Movement ended abruptly due to violence.
iii. Name the state where Jallianwala Bagh incidence took place.

iv. Name the state where Chhatrapati ShivajiAirport is located.

v. Name the state where Salem Iron and Steel Plant is located.

vi. Name the state where Kalpakkam Nuclear Power Plant is located.

vii. Name the Software Technology Park located in Uttar Pradesh.

viii. Name the state where Haldia Seaport is located.
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